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ATOMIC STRUCTURE AND TRANSFORMATION OF MATTER

Test Your Concepts Fill In The Blanks

1. The symbol of calcium is

° Watch Video Solution

2. Magnesium attains an octet configuration by electrons.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9onvMBF35w2l
https://dl.doubtnut.com/l/_4irjTZ7rEQzk

3. The electronic arrangement of an atom with two electrons in the first

shell is called if the first shell is the valence shell.

o Watch Video Solution

5. is the suffix used while naming the salt of a metal with lower

valency.

o Watch Video Solution

6. Name of the radical PO 3t is

o Watch Video Solution



https://dl.doubtnut.com/l/_76xYZ6ozOhCu
https://dl.doubtnut.com/l/_CSZOmA913ZxF
https://dl.doubtnut.com/l/_cmgDuhvUJM9P
https://dl.doubtnut.com/l/_ozXiqhcUo5ss
https://dl.doubtnut.com/l/_jstMe0y75oaQ

7. Formulae of sodium sulphite and sodium sulphate are, respectively

and

o Watch Video Solution

o Watch Video Solution

9. Decomposition of solid ammonium chloride is associated with

o Watch Video Solution

Test Your Concepts


https://dl.doubtnut.com/l/_jstMe0y75oaQ
https://dl.doubtnut.com/l/_KEbfJi2nNVoi
https://dl.doubtnut.com/l/_39UOU835epQ1

1. The number of atoms of a molecule or compound is balanced on either

side of a chemical equation by keeping appropriate

° Watch Video Solution

2. The number of electrons present in the K shells of hydrogen and

helium are

A. 2 and 1respectively

B. 2 in both the elements

C.1and 2 respectively

D.1in both the elements

Answer: 3

° Watch Video Solution

3.The charge possessed by permanganate is thesameas  radical.


https://dl.doubtnut.com/l/_ncPRpinKJ3rt
https://dl.doubtnut.com/l/_NOrDQGyV3Vag
https://dl.doubtnut.com/l/_gaVlFrjkt6ef

A. magnesium

B. bisulphate

C.sulphate

D. potassium

Answer: 2

o Watch Video Solution

4. If the formulae of respective chlorides of X and Y are XCl3andY Cl,,

respectively, then the valencies of X and Y are

A.3and 2

B.3and 4

C.1and 1

D.1and 4

Answer: 2



https://dl.doubtnut.com/l/_gaVlFrjkt6ef
https://dl.doubtnut.com/l/_Z7rwSxLfYtId

| ° Watch Video Solution

5.The formula of a compound when a positive radical with valency 2 and

negative radical with valency 1 combine is

A ByA

B. A,B

C.AB,

D. AB

Answer: 3

° Watch Video Solution

6. Sugar gets charred when treated with conc. H,SO, This is an example

A. physical change.


https://dl.doubtnut.com/l/_Z7rwSxLfYtId
https://dl.doubtnut.com/l/_lbLscToOKgXW
https://dl.doubtnut.com/l/_XpMJwP3JUJ4i

B. chemical change.

C. simultaneous physical and chemical change.

D. chemical combination reaction.

Answer: 2

° Watch Video Solution

7. Melting of wax is a

A. chemical change

B. decomposition reaction

C. both physical and chemical change

D. physical change

Answer: 4

° Watch Video Solution



https://dl.doubtnut.com/l/_XpMJwP3JUJ4i
https://dl.doubtnut.com/l/_kryFKeo8tPYT
https://dl.doubtnut.com/l/_M3tCoANY6O2f

8. Corrosion of a metal involves change in ___

A. chemical composition

B. only colour and shape

C. only density

D. malleability and ductility

Answer: 1

o Watch Video Solution

9. Formation of clouds , mist and fog are the examples of

A. chemical combination of Oy and H5O.

B. physical change which involves condensation of water vapour

C. physical change which involves sublimation.


https://dl.doubtnut.com/l/_M3tCoANY6O2f
https://dl.doubtnut.com/l/_CspPRfCdHzFG

D. chemical change which involves absorption of huge amounts of

energy.

Answer: 2

° Watch Video Solution

10. The reaction AgNOs; + NaCl — AgCl+ NaNQO; is a

reaction.

A. chemical displacement

B. chemical combination

C.double displacement

D. decomposition

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_CspPRfCdHzFG
https://dl.doubtnut.com/l/_PG5PD4TdC1To
https://dl.doubtnut.com/l/_qxK9WsgvHNka

11. Which of the following elements is chemically inactive ?

A. Nitrogen

B. Neon

C. Hydrogen

D. Copper

Answer: 2

o Watch Video Solution

12. The formula of chloride of corresponding metal is MCl,. What is the

valncy of the metal?

A 4

B.3

C.1

D.2


https://dl.doubtnut.com/l/_qxK9WsgvHNka
https://dl.doubtnut.com/l/_edL6g4n9nxei

Answer: 4

° Watch Video Solution

13. What will be the formula of the sulphate and sulphite of a trivalent
metal?

A. M5(SOy),, M(SO3),

B. MSO,, M>(S0;),

C. M550, M5>S04

D. MSO4, MSO;3

Answer: 1

° Watch Video Solution

14. Identify the atomic numbers of the pair of elements which possesses

same number of electrons in L and M shells.


https://dl.doubtnut.com/l/_edL6g4n9nxei
https://dl.doubtnut.com/l/_4uJF90W0JOID
https://dl.doubtnut.com/l/_NSM44nbDpdgs

A 12,18

B.19, 20

C.18,16

D.17,18

Answer: 2

o Watch Video Solution

15. Which of the following is a physical change ?

A. Dissolution of lime in water.

B. Dissolution of CO, in water at high pressure.

C. Dissolution of concentrated acid in water.

D. Electrolysis of water.

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_NSM44nbDpdgs
https://dl.doubtnut.com/l/_0ACT3KIs7hiU

16. Which of the following is not a chemical change?

A. Passing of steam over red hot coke.

B. Colour change of dilute nitric acid upon long standing.

C. Absorption of moisture by P,Os.

D. Absorption of moisture by CaCl, .

Answer: 4

o Watch Video Solution

17. Arrange the following point in sequence for derivation of formulae of
compounds.

(a) The valencies of the ions or radicals are written below the radicals
without positive and negative sing.

(b) If the valencies have common factors , they are divided by the highest

common factor.


https://dl.doubtnut.com/l/_0ACT3KIs7hiU
https://dl.doubtnut.com/l/_jSh60aWdnYh5
https://dl.doubtnut.com/l/_4hX9gENT6PP2

(c ) The magnitude of valencies should be interchanged and written as
subscripts on the right side of the respective ions.

(d) The positive radical followed by negative radical are written with their
chatges.

(e) If the radicals contain more than one atom , they are enclosed in
brackets and the appropriate valency (more than one ) written as

subscripts outside the bracket.

A. bcdea

B. dacbe

C.abcde

D. dabce

Answer: 2

o View Text Solution



https://dl.doubtnut.com/l/_4hX9gENT6PP2

A 30, () a 4 atoms of helium

B. 2Na ( )y b 3 oxygen atoms

C. 4He () «c 2 1ons of sodiunt

D. 8Cl, () d 2 atoms of sodium
() e 3 molecules of oxygen
(Y 8 chlorine atoms
() ¢ 8 molecules of (‘hl(ﬁ)-r‘invc

- 7 AN R

o View Text Solution

A. Zincate () a -3
B.  Stannic () b + 1
C. Nitride () ¢ +
D.  Potassium () d +4
() e -2

19, ——— — O - B

o View Text Solution

A X+Y -5 XY () a  Dusplacmentreaties

B. X+YZ -5 XZ+Y () b Combination reactoon

C. AB+ XY =5 AY + XB () « Decomposition rey 2 -

D. AB—>A+B () d  Double displacenent oo o

20.



https://dl.doubtnut.com/l/_NjrBA78jF8p7
https://dl.doubtnut.com/l/_bAzSaSXuCJpG
https://dl.doubtnut.com/l/_H4brXTYG0Y9g

_ o View Text Solution

Very Short Answer Type Questions

1. What is the difference between symbol and formula ?

° Watch Video Solution

2. Compara the mass of proton , neutron and electron?

° Watch Video Solution

3. How do not the energy of orbits in an atom vary?

° Watch Video Solution



https://dl.doubtnut.com/l/_H4brXTYG0Y9g
https://dl.doubtnut.com/l/_WZyqmn728FKQ
https://dl.doubtnut.com/l/_9CroEW7e70Ky
https://dl.doubtnut.com/l/_sq9BBDeXf3IP

4, The atomic number and mass number of an element are 13 and 27

respectively. Find the number of neutrons.

o Watch Video Solution

5. Define valency.

o Watch Video Solution

6. Name two metals that can exhibit variable valency .Also give the names

of redicals.

o Watch Video Solution

7.What is meant by synthesis reaction ? Given an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_0sDby4AICQU2
https://dl.doubtnut.com/l/_loT39yKrV6fg
https://dl.doubtnut.com/l/_NkQvZyQbFpwn
https://dl.doubtnut.com/l/_5lAXbytlJfzO
https://dl.doubtnut.com/l/_JeWs804fHjuT

8. A + BC — AC + B In the above equation , compare the reactivities

of A and B.

o Watch Video Solution

9. What is meant by electrolytic decomposition? Give an example.

o Watch Video Solution

10. Give reason for the stability of inert gases.

o Watch Video Solution

11. What is the valence shell ? What is the maximum number of electrons

it can have in an atom?

o Watch Video Solution



https://dl.doubtnut.com/l/_JeWs804fHjuT
https://dl.doubtnut.com/l/_A4TSaSGq2lF2
https://dl.doubtnut.com/l/_sDHbLvjYvrzZ
https://dl.doubtnut.com/l/_uHBe45033A8Y
https://dl.doubtnut.com/l/_6JP8QlIMgx2p

12. An atom is electrically neutral .

° Watch Video Solution

13. What is photolytic decomposition ? Give an example.

° Watch Video Solution

14. Identify physical and chemical changes among the following.
(a) Boiling of milk

(b) Ripening of fruits

(c) Curding of milk

(d) Melting of candle

(e ) Rusting of iron

(f) Blackening of silverware

° Watch Video Solution



https://dl.doubtnut.com/l/_6JP8QlIMgx2p
https://dl.doubtnut.com/l/_cUIxcvwqCY9a
https://dl.doubtnut.com/l/_DEVPbIYamIzr

15. Why should a chemical equation be balanced ?

° Watch Video Solution

16. Dissolution of calcium oxide in water is which type of reaction?

° Watch Video Solution

17.1n a double decomposition reaction , one of the products is insoluble .

What type of reaction is that ?

° Watch Video Solution

18. Potassium chlorate on strong heating gives potassium chloride and

oxygen . What type of reaction is this?

° Watch Video Solution



https://dl.doubtnut.com/l/_KRTPbCehWhua
https://dl.doubtnut.com/l/_zRBTrhnaLcrS
https://dl.doubtnut.com/l/_DccYji0tVgIQ
https://dl.doubtnut.com/l/_lP2uKhJ9zifz
https://dl.doubtnut.com/l/_hZIP8jJdqjk3

19. Balance the following chemical equations.
(i) NH3 + BTz — Nz + NH4B’I'

(i) FBSQ + 02 — F6203 — 502

° Watch Video Solution

20. In the table given below , some compounds are listed . In listed . In

each case , identify the positive and negative radicals present in the
compound.

Positive radical Negative radical
No. Compound

(i) CaSiO;
(i) H,S80;,

° Watch Video Solution

Short Answer Type Questions



https://dl.doubtnut.com/l/_hZIP8jJdqjk3
https://dl.doubtnut.com/l/_lJZS9ShWT45r

1. Give the charactercs (symbol , change , mass) of all fundamental

particles.

o Watch Video Solution

2. Why do metals form cations and non - metals form anions?

o Watch Video Solution

3. Calculate the number of neutrons in the following.
(a) .15 X°!
(b) .g U

(c) .19 K¥

o Watch Video Solution



https://dl.doubtnut.com/l/_TRpQWQeICdv7
https://dl.doubtnut.com/l/_736OnqXGFZGt
https://dl.doubtnut.com/l/_6n2yi1ZJPiT6

4. For each of the following reactions identify the products formed and
balance the reaction.
NaCl+ AgNO5; —

(b) Zn + HCIl —

° Watch Video Solution

5. Define radical . Give some examples of bivalent negative radicals.

° Watch Video Solution

6. How do you distinguish physical change and chemical change?

° Watch Video Solution

7. Mention different types of combination reactions with example.

° Watch Video Solution



https://dl.doubtnut.com/l/_eluFFz6sqprr
https://dl.doubtnut.com/l/_24E9hwvAbEiB
https://dl.doubtnut.com/l/_i8ObzkakfwZS
https://dl.doubtnut.com/l/_hcbjN1tDBUmu

8. What is meant by thermal decomposition ? Give an example.

o Watch Video Solution

9. Difine double decomposition reaction . Give an example.

o Watch Video Solution

10. What is a chemical displacement reaction ? Mention the condition

required for it.

o Watch Video Solution

11. Distinguish between cations and anions.

o Watch Video Solution



https://dl.doubtnut.com/l/_hcbjN1tDBUmu
https://dl.doubtnut.com/l/_ohlzyDhG7en4
https://dl.doubtnut.com/l/_oODIQLLO7JJo
https://dl.doubtnut.com/l/_fpOf4nsDngQe
https://dl.doubtnut.com/l/_H1l6K7uRTn68
https://dl.doubtnut.com/l/_2OjCvJFEyAFg

12.In the table given below , some commonly used positive and negative
radicals are listed . Use the crisscross method to obtain the formulae of
the compound that is formed using the given radicals . Name the

compound thus obtained.

No. Positiveradicals Nagativeradicals Formula Name of the compot

1. A3 PO?
2. Cat? NO; !
3. NH! 50, ?
4.  AlT3 Ca~*

o Watch Video Solution

13. Distinguish between atomic number and mass number with an

example.

o Watch Video Solution

14. Draw the geometrical representation of sulphur.

o Watch Video Solution



https://dl.doubtnut.com/l/_2OjCvJFEyAFg
https://dl.doubtnut.com/l/_MEX211iNyVeD
https://dl.doubtnut.com/l/_mNVGbnoI2F9h

15. Derive the formula of the following compounds.
(a) Ammonium nitrate

(b) Ferrous sulphate

° Watch Video Solution

16. How do you distinguish metals and non - metals with respect to

electronic arrangement?

° Watch Video Solution

17. Write the electronic configurations of the following elements.
(a) magnesium

(b) Silicon

(c) Sulphur

(d) Argon

° Watch Video Solution



https://dl.doubtnut.com/l/_xOY3QhLSWuCZ
https://dl.doubtnut.com/l/_DrNq6hm3CoMz
https://dl.doubtnut.com/l/_zLiw6uSnsiN3

18. Explain the following of sodium chloride.

° Watch Video Solution

19. Write the symbols of the following elements.
(a) Cadmium

(b) Bismuth

(c) Silicon

(d) Argon

° Watch Video Solution

20. Explain the observable change taking place during reaction of iron

with the aqueous solutions of H, SO, and CuSO, respectively.

° Watch Video Solution

Essy Type Questions



https://dl.doubtnut.com/l/_KkrlosZsDNUZ
https://dl.doubtnut.com/l/_YbeEfaROYc0a
https://dl.doubtnut.com/l/_Z5sDrfaTbr2I

1. Explain in detail the modern structure of atom.

° Watch Video Solution

2. Give the electronic configuration and geometrical representation of the

following elements.

° View Text Solution

3. Classify the chemical reactions into various types depending on the

way the products are formed by giving suitable examples.

° Watch Video Solution

4. Mention the postulates and limitations of Dalton's atomic theory.

° Watch Video Solution



https://dl.doubtnut.com/l/_lxQECZUsGoUt
https://dl.doubtnut.com/l/_Oodo8hUeqCqs
https://dl.doubtnut.com/l/_ZgW2y8M0dN8w
https://dl.doubtnut.com/l/_SVAprYmqcUoz

5. Write the step in balancing a chemical equation with an example.

° View Text Solution

6. What is valency ? Write short note on different types of valencies of

cations with examples.

o Watch Video Solution

Concept Application Level 1

1. The number of electrons in second shell of a metal with three valence

electrons in the third shell is eight.

° Watch Video Solution

2. The valency of helium is zero.



https://dl.doubtnut.com/l/_QBobL41gBX0K
https://dl.doubtnut.com/l/_Pl3JCdOf1m0g
https://dl.doubtnut.com/l/_qfc11O9aoFRW
https://dl.doubtnut.com/l/_yDBNOzWkUQja

| ° Watch Video Solution

3.The name of CrO; ” radical is dichromate ion.

° Watch Video Solution

4. Rusting of iron is an example of both physical and chemical change.

° Watch Video Solution

5. Sublimation of camphor is a physical change.

° Watch Video Solution

6. The central part of the atom called nucleus accounts for the mass of an

atom.

° Watch Video Solution



https://dl.doubtnut.com/l/_yDBNOzWkUQja
https://dl.doubtnut.com/l/_rxKKogA9tCUG
https://dl.doubtnut.com/l/_Eae5SP7P0q1I
https://dl.doubtnut.com/l/_A4EKuYb7EkMu
https://dl.doubtnut.com/l/_2mgrEyMaxLe2

7.Both protons and neutrons possess the same magnitude of charge but

opposite signs.

° Watch Video Solution

8. The maximum number of electrons in L shell is two.

° Watch Video Solution

9. An atom is electrically neutral .

° Watch Video Solution

10. In phosphide ion , the total number of electrons is equal to 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_2mgrEyMaxLe2
https://dl.doubtnut.com/l/_D2t401C3FJyJ
https://dl.doubtnut.com/l/_uBcOTktfD4J0
https://dl.doubtnut.com/l/_iTmFIUC6uN5c
https://dl.doubtnut.com/l/_Q2QFrvvqFlbC
https://dl.doubtnut.com/l/_cH4ENmfMVt0s

11. The symbol of cobalt is

° Watch Video Solution

12. The mass of an electron is times that of mass of a proton.

° Watch Video Solution

13. The maximum number of electrons that can be accommodated in the

outermost orbit is equal to

° Watch Video Solution

14. The valency of argon is

° Watch Video Solution



https://dl.doubtnut.com/l/_cH4ENmfMVt0s
https://dl.doubtnut.com/l/_bV8kJFg26yoD
https://dl.doubtnut.com/l/_mfl5WUj9Up7t
https://dl.doubtnut.com/l/_GV2ZpGKsvzjS

15. In the formation of sodium chloride , each chlorine gains

electron.

o Watch Video Solution

16. The formula of a zincate radical is

o Watch Video Solution

17. The combining capacity of the metal which can exhibit more than one

valency is called

o Watch Video Solution

18. Balackening of silverware is a

o Watch Video Solution



https://dl.doubtnut.com/l/_VgZUozy8g7JZ
https://dl.doubtnut.com/l/_5obaeNfVCLfu
https://dl.doubtnut.com/l/_GadIlDexLtDL
https://dl.doubtnut.com/l/_3qXGMWnogZn9
https://dl.doubtnut.com/l/_4XpqNWraXz2V

19.2HOCI! — 2HCl + Oy is a

decomposition reaction.

° Watch Video Solution

20. Atomic number of a metal having 12 neutrons and mass number 23 is

° Watch Video Solution

21. The nucleus consists of

A. proton and electrons
B. electrons and neutron
C. protons and neutrons

D. All the above

Answer: 3

| ° Wiak~h \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_4XpqNWraXz2V
https://dl.doubtnut.com/l/_bAbW2CwcVGbg
https://dl.doubtnut.com/l/_bcmBBXQuzecj
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22. The maximum number of electrons that can be accommodated in an

orbit is equal to where n is the number of orbits.

A. 4n?
B. 2n?
C.(2n + 1)

D.n2+4

Answer: 2

o Watch Video Solution

23. Among the noble gases which gas does not have octet configuration?

A. Neon

B. Helium


https://dl.doubtnut.com/l/_bcmBBXQuzecj
https://dl.doubtnut.com/l/_YSFZvekcsqDy
https://dl.doubtnut.com/l/_9lheEbggcVwi

C. Argon

D. Xenon

Answer: 2

° Watch Video Solution

24. Which among the following pairs of elements forms cation and anion

respectively ?

A. Sulphur and neon

B. Chlorine and sodium

C. Potassium and phosphorus

D. Aluminum and lithium

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_9lheEbggcVwi
https://dl.doubtnut.com/l/_vAMBohHkpqFT
https://dl.doubtnut.com/l/_7HGNwVeDBcZn

25. Which is a negative a radical among the following ?

A. Silcate

B. Ammonium

C. Ferrous

D. Chromium

Answer: 1

o Watch Video Solution

26. Which among the following reactions is not balanced ?

B. 2F6(OH)3 + 4HQSO4 — F62(504)3 + 6H20

D.2KNO; + FeSO, — FeSO; — K,S0, + Fe(NOs),


https://dl.doubtnut.com/l/_7HGNwVeDBcZn
https://dl.doubtnut.com/l/_7lAEBgZa170r

Answer: 2

° Watch Video Solution

27. Among the following reactions , identify the synthesis reaction.

A.2505 + Oy — 2505
B.C + 02 — 002
C.CaO + H5,0 — Ca(OH),

D.2H,0 — 2H, + O,

Answer: 2

° View Text Solution

28. Identify a useful change among the following chemical changes.

A. Blackening of silverware


https://dl.doubtnut.com/l/_7lAEBgZa170r
https://dl.doubtnut.com/l/_xSb1U6OlMU45
https://dl.doubtnut.com/l/_MXODdC4c7aMG

B. Rusting of iron

C. Curding of milk

D. All the above

Answer: 3

o Watch Video Solution

29. Which among the following is not a characteristic of a physical

change?

A. The change is temporary.

B. No new substance is formed.

C. Molecular formula of a compound changes.

D.Change of state of matter takes place without any change in

molecular composition.

Answer: C



https://dl.doubtnut.com/l/_MXODdC4c7aMG
https://dl.doubtnut.com/l/_F0UXY8qDf1Rt

| o Watch Video Solution

30. Among the following types of chemical reactions,application of metal

reactivity series is involved with which reaction?

A. chemical combination of Oy and H5O.

B. Chemical displacement

C. Chemical decomposition

D. Double decomposition.

Answer: 2

o Watch Video Solution

31.If a solid non-metal X forms oxide of type X,0s5,then the formula of its

corresponding chloride is

A . XCls


https://dl.doubtnut.com/l/_F0UXY8qDf1Rt
https://dl.doubtnut.com/l/_j0CjSI3YMLSH
https://dl.doubtnut.com/l/_pyh71dsu5YQP

B. XCl;

C. X, Cly

D. X;3Cl,

Answer: 2

° Watch Video Solution

32.If the formula of a metal nitrite is M(/NO,), , then the formula of its
dihydrogen phosphate is

A My(PO,),

B. MHPO,

. M(H,PO,),

D. Mo HPO,

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_pyh71dsu5YQP
https://dl.doubtnut.com/l/_CckCXbYYqKan

33. Identify the number of neutrons present in a pair of elements with
atomic numbers 20 and 13, if their mass numbers are 40 and 27,
respectively.

A.20 and 13

B.20 and 13

C.17 and 20

D.20 and 14

Answer: 4

o Watch Video Solution

34. Heating solid ammonium chloride involves change in the

A. physical state only

B. physical state as well as chemical composition


https://dl.doubtnut.com/l/_CckCXbYYqKan
https://dl.doubtnut.com/l/_9jNTfnOEfT2M
https://dl.doubtnut.com/l/_gRlVA5er7Cbc

C. colour only

D. both colour and volume only

Answer: 2

° Watch Video Solution

35. Which of the following is a chemical change ?

A. Formation of clouds

B. Formation of rust

C. Manufacture of milk powder from milk

D. Formation of black coating on the walls of tube light

Answer: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_gRlVA5er7Cbc
https://dl.doubtnut.com/l/_sJSFlVA7uDF5

36. Arrange the following sequence in order to derive the formula of zine
oxide.

(a) The valencies of ions formed by zine and oxygen are written below
without positive and negative sign.

(b) The positive ion that is Zn "2 followed by the negative ion , that is
oxide (O_2 ion are written with ther charges.

(c ) The valencies of zinc and oxide ion have common factors and hence
they are divided by their highest common factor.

(d) The magnitude of valencies of the ions should be interchanged and

written as subscripts on right side of the respective ions.

A. badc
B. abcd
C. bacd

D. cabd

Answer: 3

° View Text Solution



https://dl.doubtnut.com/l/_Tp3QiyLcxJVT

|

A. 4SO Three atoms of oxygen.

B. 2Na* Three oxygen molecules.

C. 30, Eight molecules of chlorine.
D. 8Cl, Eight chlorine atoms.

Two sodium atoms.
Four sulphur dioxide molecules.
Two sodium ions

NN~ o~~~ o~
N N N N N N S
Qe Mo AN ot

37.

o View Text Solution

A.  Aluminium () a -1
B.  Stannous () b +3
C.  Bisuphite () «c +2
D. Silicate () d +4
() e 2

38.

° View Text Solution

III — :

A. 2Pb(NO,) - PbO +4NO,+ O, () a Combination reaction
B, Zn + FeSO, — ZnSO,+ Fe () b Double decomposition rex
C.  NaCl + AgNO, — NaNO, + () c Decomposition reaction
AgCl
D S+0,->S0, () d Displ;xgg!%ng reaction

39.



https://dl.doubtnut.com/l/_Tp3QiyLcxJVT
https://dl.doubtnut.com/l/_9uActbnq8jHq
https://dl.doubtnut.com/l/_iwsjzWXn2DWg
https://dl.doubtnut.com/l/_m4kx1SA0EgX1

| ° View Text Solution

1. X and Y are non mtals in which M shell is valence shell . Y is precedent

to X . X shows uninegative valence . Identify the formulae of the

compounds formed when X and Y react with divalent metal M.

A MX,, MY

B. MX, MY,

C. M3 Xy, MyY3

D. My X3, M3Y>

Answer: 1

° Watch Video Solution



https://dl.doubtnut.com/l/_m4kx1SA0EgX1
https://dl.doubtnut.com/l/_GLDGBHSjhQ5c

2. |dentify the formula of the corresponding hydride of a nonmetal X'

which attains octet by gaining three electrons.

A. XH

B. X H,

C. XH,

D. X, H,

Answer: 3

o Watch Video Solution

3. The number of positively charged particles in the elements A, B, C are

10, 18, 8 respectively . Identify the element which is chemically reactive?

A A

B.B

C.C


https://dl.doubtnut.com/l/_W65IXSwFpmXE
https://dl.doubtnut.com/l/_kBHdrKVmJYBj

D.Both Aand B

Answer: 3

° Watch Video Solution

4. If a dispositve ion of an element 'X' consists of 12 protons and 12
neutrons and another dipositve ion of an element 'Y' consists of 18
electrons and twice the number of electrons of dipostive ion X is the
number of neutrons of Y. Then the mass number would be in the ratio of
Al:2
B.3:5

C.12:19

D.2:3

Answer: 2

o Watch Video Solution



https://dl.doubtnut.com/l/_kBHdrKVmJYBj
https://dl.doubtnut.com/l/_Tp69KlAgdqiV

5. If a uninegative ion has 10 neutrons and 9 protons , electronic

configuration of the atom of the element is

A 2,81

B.2,7

C.2,8

D.2,8,8

Answer: 2

o Watch Video Solution

6. Mass of total positive charge present in an atom is 55110 times to that

of mass of electron . Write the electronic configuration of the element.

A.2,8,9,2

B.2,8,18,1

C.2,8,18,2


https://dl.doubtnut.com/l/_CLJnLcffP9XH
https://dl.doubtnut.com/l/_4dTpHOX5vcHl

D.2,8,82

Answer: 3

o Watch Video Solution

7. The ratio of difference in the number of electrons between K and M
shells is 3:2 for X and Y elements respectively . 'X' possesses stable
electronic configuration and M is the valence shell for both X and Y. Give
the electronic configurations of X and y.

A.2,8,5and2,8,4

B.2,8,8and 2,8,6

C.2,8,8and2,6,6

D.2,8,6and 2,8,4

Answer: 2

o Watch Video Solution



https://dl.doubtnut.com/l/_4dTpHOX5vcHl
https://dl.doubtnut.com/l/_0bx9BWmD2XC0

8.
2KM’I’LO4 + HzSO4 + H20204 — K2SO4 + 2MTLSO4 + 10002 + 8H20
Potassium permanganate oxidizes oxalic acid in acidic medium as per the
above chemial reaction . Identify the coefficients of H,S0O, and H,C5,0,
in the above equation.

A 3,5

B.4,4

C.5,3

D.4,2

Answer: 1

o Watch Video Solution

9. Heating of a mixture consisting of potassiumm nitrate , carbon and

sulphur involves which of the following chemical changes ?


https://dl.doubtnut.com/l/_kLiFwyUZ65cq
https://dl.doubtnut.com/l/_Rmsx1mOsO1lZ

A. Decomposition and combination.

B. Double decomposition.

C. Combination and displacement.

D. Displacement and decomposition.

Answer: 1

o Watch Video Solution

10. CuSO4 + X — XS0, + Cu, CuSO4 +Y — Y SO, + Clu,

XS04 +Y — Noreaction,CuSO4 + Z — Noreaction,

Arrange Cu, X, Y and Z in the ascending order of reactivity.

A.X,Y,Z Cu

B.Cu,Y,X,Z

C.Cu,X,ZY

D.Z,Cu,Y,X


https://dl.doubtnut.com/l/_Rmsx1mOsO1lZ
https://dl.doubtnut.com/l/_YvIiAbnU5uwi

Answer: 4

° Watch Video Solution

11. A metal M shows variable valencies 2 and 3. Calculate the ratio of

oxygen atom present in their corresponding sulphates.

A1l:3

B.3:1

C.3:4

D.3:2

Answer: 1

° Watch Video Solution

12. Identify the formula of the corresponding hydride of a nonmetal X'

which attains octet by gaining two electrons.


https://dl.doubtnut.com/l/_YvIiAbnU5uwi
https://dl.doubtnut.com/l/_efANF141tuX3
https://dl.doubtnut.com/l/_QsBvUIOWWTbA

A. XH

B. XH,

C. XH,

D. X H,

Answer: 4

o Watch Video Solution

13. The number of valence electrons in the valece shells, 1, 2, 3 of the X,
Y, Z elements are 2, 8, 6 respectively . Identify the element which doesn '
t exist monoatomic state.

A X

B.Z

c.y

D.XandY


https://dl.doubtnut.com/l/_QsBvUIOWWTbA
https://dl.doubtnut.com/l/_O9zDUV9LCPZZ

Answer: 2

° Watch Video Solution

14. The number of neutrons are equal to the number of protons present

in the nucleus of two elements and their respective dinegative ions

possess 8 electrons in L and M shells respectively . Then the ratio of mass

numbers of the two elements is

Al:2

B.3:3

C.3:4

D.2:5

Answer: 1

° Watch Video Solution



https://dl.doubtnut.com/l/_O9zDUV9LCPZZ
https://dl.doubtnut.com/l/_r81x9CmozVtg

15. Tripositive ion of an element has 13 protons and 14 neutrons .

Calculate the of number of electrons present in K and M shells of the

neutral atom.

A 2:3

B.2:1

C.1:1

D.2:5

Answer: 1

o Watch Video Solution

16. The ratio of number of electrons present | four shells of an element is
1:4:4:1, fourth shell is the valence shell . Then mass of total positive
charge present in the atom is times to that of mass of

electron


https://dl.doubtnut.com/l/_l101otJlOKRr
https://dl.doubtnut.com/l/_gOaUmJHge5A1

A.36,704

B. 27,555

C.18,370

D. 55,110

Answer: 1

o Watch Video Solution

17. The difference in the number of elelctrons between K, L and L, M shells

in the same for an atom of element 'X' (M shell is the valence shell) and

the difference value is the number of valence electrons in M shell of the

other element 'Y' . Give the electronic configurations of their stable ions.

A.2,8,2and2,8,6

B.2,8and 2,8

C.2,8and2,8,8

D.2,8,8and 8,8


https://dl.doubtnut.com/l/_gOaUmJHge5A1
https://dl.doubtnut.com/l/_gyS0zPp2ZvkV

Answer: 3

° Watch Video Solution

18. The colour change of CuSOy solution can observed when it is made

to react with

A. silver

B. silver chloride solution

C. zinc

D. gold

Answer: 3

° Watch Video Solution

19. Identify the ratio of the coefficients of the products

CuO, NOy and H,0 formed respectively when hydrated copper nitrate


https://dl.doubtnut.com/l/_gyS0zPp2ZvkV
https://dl.doubtnut.com/l/_C7LIOl3iqKEq
https://dl.doubtnut.com/l/_5cwriZofji0O

is thermally decomposed.
A2:3:1
B.1:2:3
C.1:1.5:1

D.3:2:1

Answer: 2

o Watch Video Solution

20. Which of the following chemical change is a photolytic decomposition

reaction?

A. Decomposition of HOCl on standing.

B. Formation of hydrogen chloride from their constituent elements.

C. Decomposition of limestone .


https://dl.doubtnut.com/l/_5cwriZofji0O
https://dl.doubtnut.com/l/_ak76JfFq45d8

D.Both 1and 2.

Answer: 1

° Watch Video Solution

21. While explaining modern concept of atom , Jack asked the teacher "
why are electrons , assumed to be in continuous motion around the
nucleus instead of being stationary" ? What could be the explanation

given by the teacher?

° Watch Video Solution

22. A stable neutral atom 'X' contains two completely filled orbits . Find

out its mass number if it consists of 10 neutrons.

° Watch Video Solution



https://dl.doubtnut.com/l/_ak76JfFq45d8
https://dl.doubtnut.com/l/_txAC7PaL2cLr
https://dl.doubtnut.com/l/_d9NKcdB77i3g

23. Mass of total positive charge present in an atom is 7348 times to that
of the mass of a negativity charged particle . Find the atomic number of

an element . Find out its valency.

o Watch Video Solution

24. While coming back from school in the school in the school bus , Bill
asked his friend Gill to predict the atoms, X and Y while form a stable
dinegative ion and a uninegative ion respectively . They have same
number of electrons in the L shell which is the shell inner to the valence

shell . predict the answer given by gill .

o Watch Video Solution

25. Predict the valencies of the elements with atomic numbers 7,15, 16,
18,19 and justify Also give the formulae of hydrides formed by the above

elements if any.

| o WMl L\ dana C Al iklmn


https://dl.doubtnut.com/l/_Ghr3DiFkssWm
https://dl.doubtnut.com/l/_ay1t0cWVg6ca
https://dl.doubtnut.com/l/_LVosk954VhAO

L —rvvatlll VIUCU JUViuLivil )

26. In an atom , L and M shells have the same number of electrons . N
shell has one electron less than K shell . Explain the formation of

compound by this element and oxygen atom.

° Watch Video Solution

27. Explain the formation of the compound formed by two elements with

Z=20andZ=17.

° Watch Video Solution

28. An atom of an element has the electrons distributed in four shells . If
the electrons present in | and IV shells is in 1:1 ration and , the ratio of
electrons in Il and Il shell is also 1:1 , predict its valency and justofy

Write the formulae of (a) nitride (b) silicate (c ) chloride.

° Watch Video Solution



https://dl.doubtnut.com/l/_LVosk954VhAO
https://dl.doubtnut.com/l/_8lpJGrBDOXsf
https://dl.doubtnut.com/l/_3vRRoGTjcydW
https://dl.doubtnut.com/l/_ObAB3u5xVVZz

29. A negative ion of an atom element X has 18 electrons and 16 protons .
Calculate the number of electrons and protons in its corresponding atom
. Also calculate the number of nuetrons , if the mass number is units than

double the number of protons.

o Watch Video Solution

30. If the formula of metal sulphite of a metal M is MSOs , give the
formulae of its

(a) phosphate

(b) hydrogen phosphate

(c) chloride

o Watch Video Solution

31. In a chemical laboratory , a student broke the thermometer while

performing an experiment . Immediately , the mercury which was spilled


https://dl.doubtnut.com/l/_ObAB3u5xVVZz
https://dl.doubtnut.com/l/_J7TNhG4dCTIt
https://dl.doubtnut.com/l/_HeCrlPx7UN6F
https://dl.doubtnut.com/l/_Ikzd2BTyRRyA

over was removed by the lab - incharge by sprinkling sulphur on it . The
teacher asked the students to predict the type of change / reaction

associated with the above process. Explain with apporpriate reasons.

o Watch Video Solution

32. Asha 's mother asked her daughter Asha to boil the milk and after
some time , she told Usha , Asha 's sister to add little curd in the same
luke warm milk . Next day, their father while teaching " Transformation of
matter " to his daughters wanted to relate the given activity . so he asked
them - " what type of change was involved in the activities performed by

you yesterday ?" Predict the answer given by them and justify.

o View Text Solution

33. What is the valency of iron in the products formed
(@) When iron is exposed to humid air for a long time?

(b) When red hot iron is made to react with steam?

| a8 l


https://dl.doubtnut.com/l/_Ikzd2BTyRRyA
https://dl.doubtnut.com/l/_hY9zAcMN3Kbn
https://dl.doubtnut.com/l/_kpNT4JM3Ttdc

L ¥ Watch Video Solution J

34. Give the necessary chemical equations and balance them.
(a) Reaction of red hot iorn with steam to give Fe3O;, .
(b) burning magnesiun ribbon in an atmosphere of nitrogen.

(c ) Displacement of copper from the solution of its sulphate by zinc.

° Watch Video Solution

35.1n a science fair , a student took two test tubes labelled A and B filled
with copper sulphate solution, then he put magnesium ribbon in test

tube Asilver foil in tube B. Predict the observation and justify.

° Watch Video Solution



https://dl.doubtnut.com/l/_kpNT4JM3Ttdc
https://dl.doubtnut.com/l/_ujQL6bGUsA0o
https://dl.doubtnut.com/l/_PEeIXBYDBw5I

1. An atom of an element X' has three completely filled shell . The ratio of
electrons in 1 and 4 shells is 1: 1. Find the atomic number of X' . Also

write the formulae of its bicarbonate , chromate and phosphide.

o Watch Video Solution

2. A metal (M) and a non - metal (X) form a compound with formula M, X5
. Predict the electronic arrangements of M and X assuming that M has
three occupied shells and X has two occupied shells. Also derive the
formulae of (a) sulphate (b) dihydrogen phosphate ( c) hydroxide of ion

of M.

o Watch Video Solution

3. Two metals A and B possess the same number of electrons in L shell
and they differ by 1 unit in the number of electrons present in valence
shell and number of valence electrons are greater in B than A. The ions

formed get the configuration of the nearest inert gases namely argon


https://dl.doubtnut.com/l/_tmbJwSa2Yl17
https://dl.doubtnut.com/l/_WpRu0V4OpZoK
https://dl.doubtnut.com/l/_tQbhFmxeiuWN

and neon respectively. Give the probable electronic configurations of
metals corresponding to A and B and give the formulae of their

corresponding nitrite , nitrate , sulphite and bisulphite.

o View Text Solution

4.Number of atoms on either side of a chemical equation is balanced by
keeping appropriate coefficients and not by changing the subscripts of

the element in the formulae . Justify .

o Watch Video Solution

5. An atom of an element has two shells with electrons.The valence shell
has 2n + 1 electrons where n is the number of electrons in the innershell.
This element can form a radical X with hydrogen and two radicals Y and Z
with oxygen, Z has more number of oxygen than Y. Identify the element
and the radicals. Write the reaction taking place between solutions of

two salts, AgZ and XClI. Identify the type of reaction.

. l


https://dl.doubtnut.com/l/_tQbhFmxeiuWN
https://dl.doubtnut.com/l/_JEz4F2mK76hO
https://dl.doubtnut.com/l/_M6vXXEQKZsKf

| ¥ vvatch video sSolution J

Assessment Test 1

1. Which of the following involves only physical change ?

A. Dissolution of lime in water.

B. Dissolution of carbon dioxide in water at high pressure.

C. Dissolution of concentrated acid in water.

D. Electrolysis of water.

Answer: 3

o Watch Video Solution

2. Arrange the points in sequence to draw the geometrical representation
of an atom which is resprecented as _ (Z)X4.

(a) Calculation of the number of protons and neutrons.


https://dl.doubtnut.com/l/_M6vXXEQKZsKf
https://dl.doubtnut.com/l/_GcGVvEoF4QD2
https://dl.doubtnut.com/l/_xlaISoyvoz9S

(b) Identification of the atomic number and mass number of the given
element.
( c) Placement of the electrons in shells around the nucleus according to
the electronic configuration.
(d) Wirting the electronc configuration of the atom.
(e) Protons and neutrons are shown in nuleus.

A. baedc

B. bacde

C.abcde

D. ecbad

Answer: 1

o Watch Video Solution

3.(a) Hy + Bry — 2HBr
(b) HBr + NaOH — NaBr + H,0

(c)2NaBr + Cly — 2NaCl + Bry


https://dl.doubtnut.com/l/_xlaISoyvoz9S
https://dl.doubtnut.com/l/_dRFgoQkvT5bD

(d) 2NaCl — 2Na + Cl, Arrange the above reactions in order s double
displacement reaction, combination reaction, decomposition reaction
and displacement reaction.

A. badc

B. bdac

C. bacd

D. abdc

Answer: 1

o Watch Video Solution

4, 2KMnQOy4 + HyC504 — K5504 + 2MnSO4 + 10CO, + 8H50.
ltvrgt Potassium permanganate oxidises oxalic acid in acidic medium as
per the above chemical reaction. Identify the coefficient of Hy SOy in the

above equatio.

A3


https://dl.doubtnut.com/l/_dRFgoQkvT5bD
https://dl.doubtnut.com/l/_T022NM3dcGou

B.4

C.5

D.2

Answer: 1

° Watch Video Solution

5. What will be the formula of the sulphate and sulphite of a trivalent
metal that is M 3 ?

A. My(SOy),

B. MSO,

C. M,S50,

D. MSO;

Answer: 1

o Watch Video Solution



https://dl.doubtnut.com/l/_T022NM3dcGou
https://dl.doubtnut.com/l/_IWPyL7JDI4Js

6. Match the element in column A with the electronic configuration given

in column B.

Column A Column B
(A) Chlorine () (a) 22
(B) Scandium () (b) 287
(C) Manganese () (c) 2892
(D) Beryllim () (d) 2813 2

AA—C, B — d, C — a, D—b

BA—d, B—a C—0b D-—c

CA—b B—a C—d, D—a

DDA—>d, B—a, C—¢ D—b

Answer: 3

° Watch Video Solution

7. Assertion (A) : Mass number of a carbon is 12.

Reason ( R) : Carbon possesses equal number of all three fundamental


https://dl.doubtnut.com/l/_IWPyL7JDI4Js
https://dl.doubtnut.com/l/_5t7FSAycPNJj
https://dl.doubtnut.com/l/_h8OyN2FsujIr

particles.

A.Both Aand R are true and R is the correct explanation For A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. Ais false and R is true.

Answer: 2

o Watch Video Solution

8. Identify the atomic numbers of the pair of elements which possesses

same number of electrons in L and M shells.

A.18

B.19

D.18


https://dl.doubtnut.com/l/_h8OyN2FsujIr
https://dl.doubtnut.com/l/_fjGQcOKQbCe9

Answer: 2

° Watch Video Solution

9. If X ion has 10 neutrons and 9 protons , then the electronic

configuration of the atom of the element x is

A1,8,1

B.2,1

c.2,8

D.2,8,8

Answer: 2

° Watch Video Solution

10. Assertion (A): Copper exhibits variable valency.

Reason (R): Copper loses two electrons from its valence shell and it can


https://dl.doubtnut.com/l/_fjGQcOKQbCe9
https://dl.doubtnut.com/l/_sSjz17QMP3nu
https://dl.doubtnut.com/l/_KrzyvxfM01e4

also lose one more electron from the second last shell.

A.Both Aand R are true and R is the correct explanation For A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. Ais false and R is true.

Answer: 3

o Watch Video Solution

11. The ratio of difference in the number of electrons between K and M

shells is 3:2 for X and Y elements respectively . 'X' possesses stable

electronic configuration and M is the valence shell for both X and Y. The

electronic configurations of X and Y are respectively.

A.2,8,5and 2,8,4

B.2,8,8and2,8,6

C.2,8,8and2,6,6


https://dl.doubtnut.com/l/_KrzyvxfM01e4
https://dl.doubtnut.com/l/_YjyM8vOw8x10

D.2,8,6and 2,8,4

Answer: 2

° Watch Video Solution

12. Which of the following is not a chemical change ?

A. Passing of steam over red hot coke.

B. Change in the colour of dilute nitric acid upon long standing.

C. Absorption of moisture by P,Os.

D. Absorption of moisture by CaCl, .

Answer: 4

o Watch Video Solution



https://dl.doubtnut.com/l/_YjyM8vOw8x10
https://dl.doubtnut.com/l/_pIjoS7Ql9qZU

13. The atomic number of three elements A, B and C are 10, 18 and 8

respectively . Identify the element which is chemically reactive ?

A A

B.B

C.C

D.Both a and B

Answer: 3

o Watch Video Solution

14. If a dispositve ion of an element 'X' consists of 12 protons and 12
neutrons and another dipositve ion of an element 'Y' consists of 18
electrons and twice the number of electrons of dipostive ion X is the

number of neutrons of Y. Then the mass number would be in the ratio of

Al:2


https://dl.doubtnut.com/l/_IOg1odbcTS2s
https://dl.doubtnut.com/l/_W79hfKsjZHag

B.3:5

C.12:19

D.2:3

Answer: 2

° Watch Video Solution

15. The formula of chloride of corresponding metal is MCl,. What is the

valncy of the metal?

A4

B.3

C.1

D.2

Answer: 4

o Watch Video Solution



https://dl.doubtnut.com/l/_W79hfKsjZHag
https://dl.doubtnut.com/l/_gUNE82X9ZUeF

Assessment Test 2

1. Heating solid ammonium chloride involves change in the

A. physical state only
B. physical state as well as chemical composition
C. colour only

D. both colour and volume only

Answer: 2

o Watch Video Solution

2. Arrange the following points in a sequence to draw the geometrical
representation of 2000,40 . (1)Protons and neutrons are shown in the
nucleus.(2) Writing the electronic configuration of the atom.(3)Arrange

the electrons in shells around the nucleus following the electronicco


https://dl.doubtnut.com/l/_gUNE82X9ZUeF
https://dl.doubtnut.com/l/_cSMV1gYW3ON0
https://dl.doubtnut.com/l/_igfUi0hXOJok

nfiguration.(4) Calculation of the number of protons and neutrons.

(5)ldentification of the atomic number and mass number of the atom.

A. edcba

B. edabc

C.abcde

D. cabde

Answer: 2

o Watch Video Solution

3. Four types of reactions are given below in a particular order.
(1) Displacement reaction

(2) Combination reaction

(3) Double displacement displacement

(4) Decomposition reaction

Following this sequence to arrange the reaction given below.

(a) A+ B — AB.


https://dl.doubtnut.com/l/_igfUi0hXOJok
https://dl.doubtnut.com/l/_BpELbjF7rqw7

(b)) AB— A+ B

(0AB+C —-CB+ A

(d) AC+ BD — AD + BC

A. cadb

B. bacde

C. bdac

D. acbd

Answer: 1

o Watch Video Solution

4. Identify the coefficients of the product CuO and NO2 formed

respectively when hydrated copper nitrate is themally decomposed.

A.3,4

B.2,4


https://dl.doubtnut.com/l/_BpELbjF7rqw7
https://dl.doubtnut.com/l/_RsMTts5tWQKn

C.4,5

D.2,3

Answer: 2

° Watch Video Solution

5.If the formula of a metal ion is M *2 then the formula of its dihydrogen
phosphate is

A. My(POy),

B. MHPO,

C. M(H,PO,),

D. My HPO,

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_RsMTts5tWQKn
https://dl.doubtnut.com/l/_iqfBE8gsagU1
https://dl.doubtnut.com/l/_JZlm3cZP5Rvn

6. Match the element in column A with the valency exhibited by the

element given in column B

Column A Column B
(A) Neon (O (a) 4
(B) Oxygen () () 3
(C) Potassium () (c) 2
(D) Boron O (d) 1
(E) Silicon O (d) 0

AA—b B—ec¢ C—d, D—e FE—a

BBA—b, B—e¢, C—a D-—e FE-—d

CA—e B—>d, C—a D—b FE—c

DDA—e, B—¢ C—d, D—b FE—a

Answer: 4

o Watch Video Solution

7. Assertion (A) : The total mass of the protons of a boron atom is 6185
times the total mass of electrons.

Reason (R): Mass of one proton is 1837 times the mass of electron.


https://dl.doubtnut.com/l/_JZlm3cZP5Rvn
https://dl.doubtnut.com/l/_BiKD36h6rkno

A.Both Aand R are true and R is the correct explanation For A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. Ais false and R is true.

Answer: 4

o Watch Video Solution

8. Identify the number of neutrons present in a pair of element with

atomic numbers 20 and 13 , if their mass numbers are 40 and 27

respectively.

A.20 and 13

B.20 and 20

C.17 and 20

D.20 and 14


https://dl.doubtnut.com/l/_BiKD36h6rkno
https://dl.doubtnut.com/l/_BNUqG27pPYmi

Answer: 4

° Watch Video Solution

9. Tripositive ion of an element has 13 protons and 14 neutrons . Calculate

the of number of electrons present in K and M shells of the neutral atom.

A2

B.1

C.3

D.5

Answer: 3

° Watch Video Solution

10. Assertion (A): Sodium forms a monovalent ion.

Reason (R): Sodium loses only one electron from the second last shell.


https://dl.doubtnut.com/l/_BNUqG27pPYmi
https://dl.doubtnut.com/l/_duRv62BblJKB
https://dl.doubtnut.com/l/_Znq1KGBhJ41S

A.Both Aand R are true and R is the correct explanation For A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. Ais false and R is true.

Answer: 3

o Watch Video Solution

11. The difference in the number of elelctrons between K, L and L, M shells

in the same for an atom of element 'X' (M shell is the valence shell) and

the difference value is the number of valence electrons in M shell of the

other element 'Y' . Give the electronic configurations of their stable ions.

A.2,8,2and2,8,6

B.2,8and 2,8

C.2,8and2,8,8

D.2,8,8and 2,8,8


https://dl.doubtnut.com/l/_Znq1KGBhJ41S
https://dl.doubtnut.com/l/_vFQRPKSAuZLP

Answer: 3

° Watch Video Solution

12. Which of the following is a chemical change ?

A. Formation of clouds

B. Formation of rust

C. Manufacture of milk powder from milk

D. Formation of black coating on the walls of tube light

Answer: 2

° Watch Video Solution

13. The atomic numbers of the elements X, Y and Z are 2, 10 and 16,
respectively. Identify the element which does not exist in monoatomic

state.


https://dl.doubtnut.com/l/_vFQRPKSAuZLP
https://dl.doubtnut.com/l/_yE5NOl3agM11
https://dl.doubtnut.com/l/_dmHMBEQIRZan

A X

B.Z

cyY

D.XandY

Answer: 2

o Watch Video Solution

14. The number of neutrons are equal to the number of protons present

in the nucleus of two elements and their respective dinegative ions

possess 8 electrons in L and M shells respectively . Then the ratio of mass

numbers of the two elements is

A 1:2

B.2:3

C.3:4

D.2:5


https://dl.doubtnut.com/l/_dmHMBEQIRZan
https://dl.doubtnut.com/l/_18AHJ7PlDYJj

Answer: 1

° Watch Video Solution

15. If a solid non - metal 'X' forms oxide of type X205, the valency of X is

A3
B.5
C.6

D.4

Answer: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_18AHJ7PlDYJj
https://dl.doubtnut.com/l/_ATwarXVkqczW

1. Calculate the number of neutrons in the following.

31
15X

o Watch Video Solution

2. Calculate the number of neutrons in the following. 9o U

o Watch Video Solution

3. Calculate the number of neutrons in the following. 10K

o Watch Video Solution

4. Give the electronic configureation and geometrical representation of

the following element ? Flourine.

o Watch Video Solution



https://dl.doubtnut.com/l/_upg8Mz3Tlrtp
https://dl.doubtnut.com/l/_LUmzynFcWWEh
https://dl.doubtnut.com/l/_X73Jbeph645a
https://dl.doubtnut.com/l/_aQQiflJ4DGov
https://dl.doubtnut.com/l/_DoeqCghH5NFo

5. Give the electronic configureation and geometrical representation of

the following element ? Sodium.

° Watch Video Solution

6. Give the electronic configureation and geometrical representation of

the following element ? Chlorine.

° Watch Video Solution

7. Give the electronic configureation and geometrical representation of

the following element ? Carbon.

° Watch Video Solution

8. Derive the formulae of the following compound Ammonium nitrate.

° Watch Video Solution



https://dl.doubtnut.com/l/_DoeqCghH5NFo
https://dl.doubtnut.com/l/_xk7rzbsXfwt3
https://dl.doubtnut.com/l/_ZHImo3CwWuxr
https://dl.doubtnut.com/l/_uaJ5PLeYXIQk

9. Derive the formulae of the following compound Ferrous sulphate.

° Watch Video Solution

10. Give the necessary chemical equations and balance them.

Reaction of red hot iron with steam to give Fe50;,.

° Watch Video Solution

11. Give the necessary chemical equations and balance them.

Burning magnesium ribbon in an atomsphere of nitrogen.

° Watch Video Solution

12. Give the necessary chemical equations and balance them.

Displacement of copper from its sulphate salt solution by zinc.

| o WMl L\ dana C Al iklmn


https://dl.doubtnut.com/l/_uaJ5PLeYXIQk
https://dl.doubtnut.com/l/_pM8eZOXYl10o
https://dl.doubtnut.com/l/_S8yTEE6No7Mh
https://dl.doubtnut.com/l/_Qv2IgBFkdhQq
https://dl.doubtnut.com/l/_eRityqxqHC8C

L —rvvatilill VIUCU JUViuLivil )

13. Explain the observable change taking place during reaction of iron

with the aqueous solutions of H,SO, and CuSO, respectively.

° Watch Video Solution

14. In the table given below, some compounds are listed. In each case

identify the positive and negative radicals present in the compound.

(a) S,
by CuS

e} Hiy
{dy  Baldy
fe)  Mgs

N NaAlO,
(g} MnO,
(h) LiH

{i}  KMnO,
i Casi0y
(ky Caly

N HOCI
m) CaCO,

° Watch Video Solution



https://dl.doubtnut.com/l/_eRityqxqHC8C
https://dl.doubtnut.com/l/_WGLRZcupIMUb
https://dl.doubtnut.com/l/_j4IpgvkZpma6

Test Your Concepts Very Short Answer Type Questions

1. The symbol of calcium is

° Watch Video Solution

2. Magnesium attains an octet configuration by electrons.

° Watch Video Solution

3. The electronic arrangement of an atom with two electrons in the first

shell is called if the first shell is the valence shell.

o Watch Video Solution



https://dl.doubtnut.com/l/_66XvRbfCoYOB
https://dl.doubtnut.com/l/_IcnxNh4znOur
https://dl.doubtnut.com/l/_Kg5W1GmxTP35
https://dl.doubtnut.com/l/_UTVxifS6r2lE

5. is the suffix used while naming the salt of a metal with lower

valency.

° Watch Video Solution

6. Name of the radical PO 3t is

° Watch Video Solution

7. Formulae of sodium sulphite and sodium sulphate are, respectively

and

° Watch Video Solution

| ° Watch Video Solution


https://dl.doubtnut.com/l/_UTVxifS6r2lE
https://dl.doubtnut.com/l/_vi53HJw89znl
https://dl.doubtnut.com/l/_2OWjmcX85BQe
https://dl.doubtnut.com/l/_FzUigKS9nXxB
https://dl.doubtnut.com/l/_tEEgu6NvcIy7

9. Decomposition of solid ammonium chloride is associated with

° Watch Video Solution

10. The number of atoms of a molecule or compound is balanced on

either side of a chemical equation by keeping appropriate

° Watch Video Solution

1. The number of electrons present in the K shells of hydrogen and

helium are

A.2 and 1, respectively

B. 2 in both the elements

C.1and 2, respectively


https://dl.doubtnut.com/l/_tEEgu6NvcIy7
https://dl.doubtnut.com/l/_vLf5xmnl9m4T
https://dl.doubtnut.com/l/_vqd1lPr1VjQU
https://dl.doubtnut.com/l/_LISYA4a6Supm

D.1in both the elements

Answer: C

° Watch Video Solution

12. The charge possessed by permanganate is the same as radical.

A. magnesium

B. bisulphate

C.sulphate

D. potassium

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_LISYA4a6Supm
https://dl.doubtnut.com/l/_Xv1LBgGAfHPR

13. If the formulae of respective chlorides of X and Y are XClsandY Cl,

respectively, then the valencies of X and Y are

A.3and 2

B.3and 4

C.1and 1

D.1and 4

Answer: b

o Watch Video Solution

14. The formula of a compound when a positive radical with valency 2 and

negative radical with valency 1 combine is

A. By A

B. A,B

C.AB,


https://dl.doubtnut.com/l/_okoMfZn5HurO
https://dl.doubtnut.com/l/_BdSeg1zbDEsq

D. AB

Answer: ¢

° Watch Video Solution

15. Sugar gets charred when treated with conc. H, SO, This is an example

A. physical change

B. chemical change

C. simultaneous physical and chemical changes

D. chemical combination reaction

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_BdSeg1zbDEsq
https://dl.doubtnut.com/l/_RdBDcQfnZRXb

16. Melting of wax is a

A. chemical change

B. decomposition reaction

C. both physical and chemical change

D. physical change

Answer: d

o Watch Video Solution

17. Corrosion of a metal involves change in

A. chemical composition

B. only colour and shape

C.only density

D. malleability and ductility


https://dl.doubtnut.com/l/_csmpByawk4Xk
https://dl.doubtnut.com/l/_d7eN2jWUyxwI

Answer: a

° Watch Video Solution

18. Formation of clouds , mist and fog are the examples of

A. chemical combination of Oy and H,O.

B. physical change which involves condensation of water vapour.

C. physical change which involves sublimation.

D. chemical change which involves absorption of huge amounts of

energy.

Answer: b

o Watch Video Solution

19. The reaction AgNO3 + NaCl — AgCl+ NaNOs is a

reaction.


https://dl.doubtnut.com/l/_d7eN2jWUyxwI
https://dl.doubtnut.com/l/_DOmg1dCfsnQY
https://dl.doubtnut.com/l/_V0MptsejjN7i

A. chemical displacement

B. chemical combination

C. double displacement

D. decomposition

Answer: ¢

o Watch Video Solution

20. Which of the following elements is chemically inactive ?

A. Nitrogen

B. Neon

C. Hydrogen

D. Copper

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_V0MptsejjN7i
https://dl.doubtnut.com/l/_xZOYSpFEv09e

21. The formula of chloride of a corresponding metal is M Cl,. What is the

valency of the metal?

A 4

B.3

C.1

D.2

Answer: d

o Watch Video Solution

22. What will be the formula of the sulphate and sulphite of a trivalent

metal?

A. M5(SOy)4, M5(S03),

B. MSO,, My(SO;),


https://dl.doubtnut.com/l/_xZOYSpFEv09e
https://dl.doubtnut.com/l/_AEb8L8p3gn7e
https://dl.doubtnut.com/l/_vzsKO3yVrUb3

C. M504, M504

D. MSO,, MSO;

Answer: a

° Watch Video Solution

23. Identify the atomic numbers of the pair of elements which possesses

same number of electrons in L and M shells.

A. 12,18

B. 19, 20

C.18,16

D.17,18

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_vzsKO3yVrUb3
https://dl.doubtnut.com/l/_JZIAnAIJTirT
https://dl.doubtnut.com/l/_JGxuwbZS3Uo3

24. Which of the following is a physical change ?

A. Dissolution of lime in water.
B. Dissolution of CO? in water at high pressure.
C. Dissolution of concentrated acid in water.

D. Electrolysis of water.

Answer: ¢

o Watch Video Solution

25. Which of the following is not a chemical change?

A. Passing of steam over red hot coke.

B. Colour change of dil nitric acid upon longstanding.

C. Absorption of moisture by P,Os.

D. Absorption of moisture by CaCl,.


https://dl.doubtnut.com/l/_JGxuwbZS3Uo3
https://dl.doubtnut.com/l/_RW90PvnQbWIS

Answer: d

° Watch Video Solution

26. Arrange the following points in a sequence for derivation of formulae
of compounds.

(1) The valencies of the ions or radicals are written below the radicals
without positive and negative sign

(2) If the valencies have common factors, then they are divided by the
highest common factor.

(3) The magnitude of valencies should be inter changed and written as
subscripts on the right side of the respective ions.

(4) The positive radical followed by negative radical are written with their
charges.

(5) If the radicals contain more than one atom, they are enclosed in
brackets and the appropriate valency (more than one) written as

subscriptsoutside the bracket.

A 2,3,4,51


https://dl.doubtnut.com/l/_RW90PvnQbWIS
https://dl.doubtnut.com/l/_BrYQSXJhVtGX

B.4,1,3,25

C.1,23,4,5

D.4,1,2,35

Answer: b

° View Text Solution

A 3O, dh o 4 aoms of helium
B 2Na () h 3 oxygen atoms
. 4He L€ 2 woms of soshum
D 8CL, (} d 2 atoms of sodium

i } . 3 |1I|.':|-|.r,"-|."| dey of
CVREN
() £ B8 chlorine stoms
1y B8 molecules of
chlornne
27.

° Watch Video Solution



https://dl.doubtnut.com/l/_BrYQSXJhVtGX
https://dl.doubtnut.com/l/_mt0Htr6MCnDJ
https://dl.doubtnut.com/l/_DJa14yGs7ELu

28.

° Watch Video Solution

Column B

A X+¥YaXY

B X+¥Z-XZ
+ N

C. AR+ XY —F AY
+ XH

D AB—3A+B

29.

{3 2 Dsplacement
reacnon

() b Combination

rE3Con

()} 4 Double

o Watch Video Solution



https://dl.doubtnut.com/l/_DJa14yGs7ELu
https://dl.doubtnut.com/l/_xFBZ8bg3IjYn

30. What is the difference between symbol and formula ?

o Watch Video Solution

31. Compara the mass of proton , neutron and electron?

o Watch Video Solution

32. How do not the energy of orbits in an atom vary?

o Watch Video Solution

33. The atomic nhumber and mass number of an element are 13 and 27

respectively. Find the number of neutrons.

o Watch Video Solution



https://dl.doubtnut.com/l/_kFkg5EPPDGnp
https://dl.doubtnut.com/l/_lGndxFUSOlh9
https://dl.doubtnut.com/l/_C3xQtvlN0kXV
https://dl.doubtnut.com/l/_A9hIM30e7UEF

34. Define valency.

o Watch Video Solution

35. Name two metals that can exhibit variable valency .Also give the

names of redicals.

o Watch Video Solution

36. What is meant by synthesis reaction ? Given an example.

o Watch Video Solution

37.A + BC — AC + B In the above equation , compare the reactivities

of A and B.

o Watch Video Solution



https://dl.doubtnut.com/l/_7kMQ8wYUvdRf
https://dl.doubtnut.com/l/_6KZys8BarvQe
https://dl.doubtnut.com/l/_jz5uFSGEddZJ
https://dl.doubtnut.com/l/_Pn2TSWVS3wUb
https://dl.doubtnut.com/l/_MkSw2VpZQPGs

38. What is meant by electrolytic decomposition? Give an example.

o Watch Video Solution

39. Give reason for the stability of inert gases.

o Watch Video Solution

40. What is the valence shell ? What is the maximum number of electrons

it can have in an atom?

o Watch Video Solution

41. An atom is electrically neutral .

o Watch Video Solution



https://dl.doubtnut.com/l/_MkSw2VpZQPGs
https://dl.doubtnut.com/l/_wWwaiYE4xJOF
https://dl.doubtnut.com/l/_XXnfxavVx8Ur
https://dl.doubtnut.com/l/_aKS6xmHojzv8

42. What is photolytic decomposition ? Give an example.

° Watch Video Solution

43. |dentify physical and chemical changes among the following.
(a) Boiling of milk

(b) Ripening of fruits

(c) Curding of milk

(d) Melting of candle

(e ) Rusting of iron

(f) Blackening of silverware

° Watch Video Solution

44. Why should a chemical equation be balanced ?

° Watch Video Solution



https://dl.doubtnut.com/l/_BAKyGEHyzmAg
https://dl.doubtnut.com/l/_hCyJTAecFiii
https://dl.doubtnut.com/l/_epILBMxLwvi9
https://dl.doubtnut.com/l/_tF5cxlumXFOd

45. Dissolution of calcium oxide in water is which type of reaction?

° Watch Video Solution

46.n a double decomposition reaction , one of the products is insoluble .

What type of reaction is that ?

° Watch Video Solution

47. Potassium chlorate on strong heating gives potassium chloride and

oxygen . What type of reaction is this?

° Watch Video Solution

48. Balance the following chemical equations.
(i) NH3 + BTz — Nz + NH4B’I"

(i) FBSQ + 02 — F6203 — 502

° Watch Video Solution



https://dl.doubtnut.com/l/_tF5cxlumXFOd
https://dl.doubtnut.com/l/_4AqwcDpi0GUe
https://dl.doubtnut.com/l/_A4ZJyfhPVyp7
https://dl.doubtnut.com/l/_ATknLltcOufx

49. In the following table, some compounds are listed.In each case,

identify the positive and negative radicals present in the compound.

o Casild,

i) Hy50,

o Watch Video Solution

Test Your Concepts Short Answer Type Questions

1. Give the charactercs (symbol , change , mass) of all fundamental

particles.

° Watch Video Solution



https://dl.doubtnut.com/l/_ATknLltcOufx
https://dl.doubtnut.com/l/_eL9cDcMzRPZ5
https://dl.doubtnut.com/l/_DoIcC81rsAPT

2. Why do metals form cations and non - metals form anions?

° Watch Video Solution

3. Calculate the number of neutrons in the following.
(a) .15 X!
(b) .g U

(c) .19 K¥

° Watch Video Solution

4. For each of the following reactions identify the products formed and
balance the reaction.
NaCl+ AgNO5; —

(b) Zn + HCIl —

° Watch Video Solution



https://dl.doubtnut.com/l/_9C0bP2LHkDVh
https://dl.doubtnut.com/l/_EI95mjV7N7po
https://dl.doubtnut.com/l/_rfFcPfwZTxSf
https://dl.doubtnut.com/l/_TihXFIndh9lK

5. Define radical . Give some examples of bivalent negative radicals.

o Watch Video Solution

6. How do you distinguish physical change and chemical change?

o Watch Video Solution

7. Mention different types of combination reactions with example.

o Watch Video Solution

8. What is meant by thermal decomposition ? Give an example.

o Watch Video Solution

9. Difine double decomposition reaction . Give an example.

Y.


https://dl.doubtnut.com/l/_TihXFIndh9lK
https://dl.doubtnut.com/l/_ktfW0xbUQKrZ
https://dl.doubtnut.com/l/_o1saIk3lQLK8
https://dl.doubtnut.com/l/_a8l7MYpleFV9
https://dl.doubtnut.com/l/_qKwVTE0kkUS3

| ¥ Vvatch Video Solution J

10. What is a chemical displacement reaction ? Mention the condition

required for it.

° Watch Video Solution

11. Distinguish between cations and anions.

° Watch Video Solution

12.In the table given below , some commonly used positive and negative
radicals are listed . Use the crisscross method to obtain the formulae of
the compound that is formed using the given radicals . Name the

compound thus obtained.

No. Positiveradicals Nagativeradicals Formula Name of the compot

1L Al PO, ?
2. Cat? NO; !
3. NH,! 50,?
4.  AlT3 Ca—4


https://dl.doubtnut.com/l/_qKwVTE0kkUS3
https://dl.doubtnut.com/l/_kT6I1duYpfIN
https://dl.doubtnut.com/l/_dVC5rNQikN2v
https://dl.doubtnut.com/l/_ptu69GPhntpR

° Watch Video Solution

13. Distinguish between atomic number and mass number with an

example.

° Watch Video Solution

14. Draw the geometrical representation of sulphur.

° Watch Video Solution

15. Derive the formula of the following compounds.
(a) Ammonium nitrate

(b) Ferrous sulphate

° Watch Video Solution



https://dl.doubtnut.com/l/_ptu69GPhntpR
https://dl.doubtnut.com/l/_ZCtjWYWmDLFk
https://dl.doubtnut.com/l/_dJVAb4OgrRki
https://dl.doubtnut.com/l/_Dq73QfsFkAQD

16. How do you distinguish metals and non - metals with respect to

electronic arrangement?

° Watch Video Solution

17. Write the electronic configurations of the following elements.
(a) magnesium

(b) Silicon

(c) Sulphur

(d) Argon

° Watch Video Solution

18. Explain the formation of sodium chloride.

° Watch Video Solution



https://dl.doubtnut.com/l/_wHEeBMvB7eRC
https://dl.doubtnut.com/l/_guEPZjxU0e1W
https://dl.doubtnut.com/l/_lpSEuLC19O5X

19. Write the symbols of the following elements.
(a) Cadmium

(b) Bismuth

(c) Silicon

(d) Argon

o Watch Video Solution

20. Explain the observable change taking place during reaction of iron

with the aqueous solutions of H,SO, and CuSO, respectively.

o Watch Video Solution

Test Your Concepts Essay Type Questions

1. Explain in detail the modern structure of atom.

° Watch Video Solution



https://dl.doubtnut.com/l/_HnMZnCSuNAE6
https://dl.doubtnut.com/l/_z23fw8UkZ0I4
https://dl.doubtnut.com/l/_OWisESpb3PGy

2. Give the electronic configuration and geometricalatomic theory
representation of the following elements:

(a) fluorine

(b) sodium

(c) chlorine

(d) carbon

° Watch Video Solution

3. Classify the chemical reactions into various types types of valencies of
cations with examples. depending on the way the products are formed by

giving suitable examples.

° View Text Solution

4. Mention the postulates and limitations of Dalton's atomic theory.

° Watch Video Solution



https://dl.doubtnut.com/l/_OWisESpb3PGy
https://dl.doubtnut.com/l/_7wfesaHe5bMY
https://dl.doubtnut.com/l/_RnJdpXN1m6Z7
https://dl.doubtnut.com/l/_0CZZjM2PkvjI

5. Write the steps in balancing a chemical equation with an example.

° View Text Solution

6. What is valency ? Write short note on different types of valencies of

cations with examples.

° Watch Video Solution

Concept Application Level 1

1. The number of electrons in second shell of a metal with three valence

electrons in the third shell is eight.

° Watch Video Solution



https://dl.doubtnut.com/l/_0CZZjM2PkvjI
https://dl.doubtnut.com/l/_nwJXzZBTizK4
https://dl.doubtnut.com/l/_hrNkYJQZETvY
https://dl.doubtnut.com/l/_yUTmhMYQ8Xlo

2. The valency of helium is zero.

o Watch Video Solution

3. The name of CrO; * radical is dichromate ion.

o Watch Video Solution

4. Rusting of iron is an example of both physical and chemical change.

o Watch Video Solution

5. Sublimation of camphor is a physical change.

o Watch Video Solution



https://dl.doubtnut.com/l/_ci5rxMPGxbvd
https://dl.doubtnut.com/l/_mdy7JWWQ6Kwt
https://dl.doubtnut.com/l/_ZZXV0nbEko2a
https://dl.doubtnut.com/l/_mYlh9iMraVlV

6. The central part of the atom called nucleus accounts for the mass of an

atom.

o Watch Video Solution

7.Both protons and neutrons possess the same magnitude of charge but

opposite signs.

o Watch Video Solution

8. The maximum number of electrons in the L shell is two.

o Watch Video Solution

9. An atom is electrically neutral .

o Watch Video Solution



https://dl.doubtnut.com/l/_lRLIFjllUEzH
https://dl.doubtnut.com/l/_KUlkK7IQ2sgz
https://dl.doubtnut.com/l/_ReBQ8E5DwQjg
https://dl.doubtnut.com/l/_klCfuqHPufey
https://dl.doubtnut.com/l/_T5v7NKS3VKKJ

10. In phosphide ion , the total number of electrons is equal to 12.

o Watch Video Solution

1. The symbol of cobaltis

o Watch Video Solution

12. The mass of an electron is times that of mass of a proton.

o Watch Video Solution

13. The maximum number of electrons that can be accommodated in the

outermost orbit is equal to

o Watch Video Solution



https://dl.doubtnut.com/l/_T5v7NKS3VKKJ
https://dl.doubtnut.com/l/_S765aZUqUt89
https://dl.doubtnut.com/l/_cTt6cQdu44kl
https://dl.doubtnut.com/l/_Xov4Hrql8ao9

14. The valency of argon is

o Watch Video Solution

15. In the formation of sodium chloride , each chlorine gains

electron.

o Watch Video Solution

16. The formula of a zincate radical is

o Watch Video Solution

17. The combining capacity of the metal which can exhibit more than one

valency is called

o Watch Video Solution



https://dl.doubtnut.com/l/_5jj90oSGO7J6
https://dl.doubtnut.com/l/_E6dQcCwBn6sS
https://dl.doubtnut.com/l/_1E9Iqa8CMdfz
https://dl.doubtnut.com/l/_uak28tSkPghm
https://dl.doubtnut.com/l/_uckr3h1TexCh

18. Balackening of silverware is a

° Watch Video Solution

19.2HOC! — 2HCl + Oy is a decomposition reaction.

° Watch Video Solution

20. Atomic number of a metal having 12 neutrons and mass number 23 is

° Watch Video Solution

21. The nucleus consists of

A. proton and electrons.

B. electrons and neutron.


https://dl.doubtnut.com/l/_uckr3h1TexCh
https://dl.doubtnut.com/l/_C40vCGpCzvBn
https://dl.doubtnut.com/l/_lMpfMw6oenJP
https://dl.doubtnut.com/l/_1H6Tgy7FPbpu

C. protons and neutrons.

D. all the above.

Answer: C

° Watch Video Solution

22. The maximum number of electrons that can be accommodated in an

orbit is equal to where n is the number of orbits.

A 472
B. 272
C.(2n 4 1)°

D.7w2 + 4

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_1H6Tgy7FPbpu
https://dl.doubtnut.com/l/_46Pv6iaIHX65
https://dl.doubtnut.com/l/_D7nymwGo3EV7

23. Among the noble gases which gas does not have octet configuration?

A. neon

B. helium

C.argon

D. xenon

Answer: b

o Watch Video Solution

24. Which among the following pairs of elements forms cation and anion

respectively ?

A. sulphur and neon

B. chlorine and sodium

C. potassium and phosphorus

D. aluminium and lithium


https://dl.doubtnut.com/l/_D7nymwGo3EV7
https://dl.doubtnut.com/l/_wUF9D4f5ABKY

Answer: ¢

° Watch Video Solution

25. Which is a negative a radical among the following ?

A. silicate

B. ammonium

C.ferrous

D. chromium

Answer: a

° Watch Video Solution

26. Which among the following reactions is not balanced ?

A.2KCIO3 — 2KCI + 30,


https://dl.doubtnut.com/l/_wUF9D4f5ABKY
https://dl.doubtnut.com/l/_Zz6cEtGFjAoP
https://dl.doubtnut.com/l/_Bw2GLRL8vz8e

B. ZFG(OH)3 + 4HQSO4 — FGQ(SO4)3 + 6H2O
C.2Pb(NO32 + 2PbO + 4NO, + O,

D.2KNO; + FeSO4 — K,S04 + Fe(NOs),

Answer: b

° Watch Video Solution

27. Among the following reactions, identify the synthesis reaction.

AS+ 0Oy — SO,
B.C + 02 — 002
C.CaO + HyO + Ca(OH),

D.2H50 — 2H5 + O,

Answer: b

° View Text Solution



https://dl.doubtnut.com/l/_Bw2GLRL8vz8e
https://dl.doubtnut.com/l/_Ek1Th0XZJZIu
https://dl.doubtnut.com/l/_uT7KOhBluAlf

28. |dentify a useful change among the following chemical changes.

A. blackening of silverware.

B. rusting of iron.

C. curdling of milk.

D. all the above.

Answer: ¢

o Watch Video Solution

29. Which among the following is not a characteristic of a physical

change?

A.The change is temporary.

B. No new substance is formed.

C. Molecular formula of a compound changes.


https://dl.doubtnut.com/l/_uT7KOhBluAlf
https://dl.doubtnut.com/l/_TXoBt9ib9fKF

D.Change of state of matter takes place withoutany change in

molecular composition.

Answer: ¢

° Watch Video Solution

30. Among the following types of chemical reactions,application of metal

reactivity series is involved with which reaction?

A. chemical combination

B. chemical displacement

C. chemical decomposition

D. double decomposition

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_TXoBt9ib9fKF
https://dl.doubtnut.com/l/_iXpZ4XBXdN0u
https://dl.doubtnut.com/l/_aVdGjWdd0E61

31.If a solid non-metal X forms oxide of type X,Os,then the formula of its

corresponding chloride is

A XCly

B. XCl;

C. X,Cls

D. X,Cl,

Answer: b

o Watch Video Solution

32.If the formula of a metal nitrite is M(NO,), , then the formula of its
dihydrogen phosphate is

A. My(POy),

B. MHPO,

C. M(H,PO,),


https://dl.doubtnut.com/l/_aVdGjWdd0E61
https://dl.doubtnut.com/l/_tQBuSNjePdyN

D. My HPO,

Answer: ¢

° Watch Video Solution

33. Identify the number of neutrons present in a pair of elements with
atomic numbers 20 and 13, if their mass numbers are 40 and 27,
respectively.

A.20and 13

B.20 and 13

C.17 and 20

D.20 and 14

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_tQBuSNjePdyN
https://dl.doubtnut.com/l/_TJ4Q7e4DAcdH
https://dl.doubtnut.com/l/_DCNaXy2ZlDsK

34. Heating solid ammonium chloride involves change in the

A. physical state only

B. physical state as well as chemical composition.

C. colour only.

D. both colour and volume only.

Answer: b

o Watch Video Solution

35. Which of the following is a chemical change?

A. formation of clouds.

B. formation of rust.

C. manufacture of milk powder from milk.

D. formation of black coating on the walls of atube light.


https://dl.doubtnut.com/l/_DCNaXy2ZlDsK
https://dl.doubtnut.com/l/_nCK51bt2x9aQ

Answer: b

o Watch Video Solution

36. Arrange the following sequence in order to derive the formula of zinc
oxide.

(1) The valencies of ions formed by zinc and oxygen are written below
without positive and negative sign.

(2) The positive ion, i.e, Zn*? followed by the negative ion, i.e., oxide
(072) ion are written with their charges.

(3) The valencies of zinc and oxide ion have common factors, and hence,
they are divided by their highest common factor.

(4) The magnitude of valencies of the ions should be interchanged and

written as subscripts on right side of the respective ions.

A2,1,43
B.1,2,3,4

C.2,1,3,4


https://dl.doubtnut.com/l/_nCK51bt2x9aQ
https://dl.doubtnut.com/l/_hLFo6nZFFqJb

D.3,1,2,4.

Answer: ¢

° View Text Solution

A 480, (1 g, [Three atosms of
Oy e

B 2N {1 b Three axygen
resolev ules

0 M, 1Y o Bight mesdecukes of
chdt v

11 Bl () d Elgh chlorine stons
e Two wodiem atonm

() € Four wlphor deetde
Thp

() g Teo sednerey woem

° Watch Video Solution



https://dl.doubtnut.com/l/_hLFo6nZFFqJb
https://dl.doubtnut.com/l/_ZpKsfreJr1u7

A Alwmniem O

B Stannous fy b +1
{ Bhsurphiiee I o
Ir  Silicare Fodo d

38.

o Watch Video Solution

A, ZPBINO) = PO () & Combination

+ ANO)Y + Oy reaction
B Zn+ FeSO, (} b Double
2SO0+ Fe decomposition
FEacticn
C.  NaCl + AgNO)y () & DPecomposition
— MNaNOy+ AgCl reaction

D §S+0y=80, () d Displcement
PeCthin

39.

| o Watch Video Solution


https://dl.doubtnut.com/l/_75h7KlZmFgxM
https://dl.doubtnut.com/l/_lCt4Ix1KIIQV

Concept Application Level 2

1. X and Y are non mtals in which M shell is valence shell . Y is precedent
to X . X shows uninegative valence . Identify the formulae of the
compounds formed when X and Y react with divalent metal M.

A MXy, MY

B.MX, MY>

C. M3X, MyYs

D. M> X3, M>2Y>

Answer: a

° Watch Video Solution

2. Identify the formula of the corresponding hydride of a nonmetal X'

which attains octet by gaining three electrons.


https://dl.doubtnut.com/l/_lCt4Ix1KIIQV
https://dl.doubtnut.com/l/_hVs6FyYJcEUY
https://dl.doubtnut.com/l/_0sGiLuPNDoKS

A. XH

B. X H,

C. XH,

D. X, H,

Answer: ¢

o Watch Video Solution

3. The number of positively charged particles in the elements A, B, C are

10, 18, 8 respectively . Identify the element which is chemically reactive?

AA

B.B

C.C

D.both Aand B

Answer: ¢



https://dl.doubtnut.com/l/_0sGiLuPNDoKS
https://dl.doubtnut.com/l/_yTnFWMRmT7lE

| o Watch Video Solution

4. If a dispositve ion of an element 'X' consists of 12 protons and 12
neutrons and another dipositve ion of an element 'Y' consists of 18
electrons and twice the number of electrons of dipostive ion X is the
number of neutrons of Y. Then the mass number would be in the ratio of
A 1:2
B. 3:5

C.12:19

D. 2:5

Answer: b

o Watch Video Solution

5. If a uninegative ion has 10 neutrons and 9 protons , electronic

configuration of the atom of the element is


https://dl.doubtnut.com/l/_yTnFWMRmT7lE
https://dl.doubtnut.com/l/_jbJFE2qFBwfy
https://dl.doubtnut.com/l/_mfSsf4tPSSxe

A 2,81

B. 2,7

C.28

D.2,8,8

Answer: b

o Watch Video Solution

6. Mass of total positive charge present in an atom is 55110 times to that

of mass of electron . Write the electronic configuration of the element.

A 2,892

B.2,8,18,1

C.2,8,18,2

D. 2,8,8,2

Answer: ¢



https://dl.doubtnut.com/l/_mfSsf4tPSSxe
https://dl.doubtnut.com/l/_YzaKf8c9ttGy

| o Watch Video Solution

7. The ratio of difference in the number of electrons between K and M
shells is 3:2 for X and Y elements respectively . 'X' possesses stable
electronic configuration and M is the valence shell for both X and Y. The
electronic configurations of X and Y are respectively.

A.2,8,5and 2,8,4

B.2,8,8and 2,86

C.2,8,8and 2,6,6

D.2,8,6and 2,8,4

Answer: b

o Watch Video Solution

8.

2KM’I’LO4 + HQSO4 + H20204 — KQSO4 + 2M’I’LSO4 + 10002 + SHQO


https://dl.doubtnut.com/l/_YzaKf8c9ttGy
https://dl.doubtnut.com/l/_egKKRl82GqPI
https://dl.doubtnut.com/l/_z7E97TIDiApU

Potassium permanganate oxidizes oxalic acid in acidic medium as per the

above chemial reaction . Identify the coefficients of H,S0, and H,C5,0,

in the above equation.

A.3,5

B. 4,4

C.53

D.4,2

Answer: a

o Watch Video Solution

9. Heating of a mixture consisting of potassiumm nitrate , carbon and

sulphur involves which of the following chemical changes ?

A. decomposition and combination

B. double decomposition

C. combination and displacement


https://dl.doubtnut.com/l/_z7E97TIDiApU
https://dl.doubtnut.com/l/_0rTQZB9coZwH

D. displacement and decomposition

Answer: a

° Watch Video Solution

10.CuS0O4 + X — XSOy + Cu, CuSO4 +Y — YSO4 + Clu,
XSO, +Y — Noreaction,CuSO, + Z — No reaction,
Arrange Cu, X, Y and Z in the ascending order of reactivity.

A X,Y,Z,Cu

B.Cu,Y,X,Z

C.Cu,X,Z,Y

D.Z,Cu,Y, X

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_0rTQZB9coZwH
https://dl.doubtnut.com/l/_TOftgamob43h
https://dl.doubtnut.com/l/_tQKpKg6WAd32

11. A metal M shows variable valencies 2 and 3. Calculate the ratio of

oxygen atom present in their corresponding sulphates.

A. 1.3

B. 3:1

C.3:4

D. 3:2

Answer: a

o Watch Video Solution

12. Identify the formula of the corresponding hydride of a nonmetal X'

which attains octet by gaining two electrons.

A. XH

B. X H;

C. XH,


https://dl.doubtnut.com/l/_tQKpKg6WAd32
https://dl.doubtnut.com/l/_OcC3T3joHjjh

D. X H,

Answer: d

° Watch Video Solution

13. The number of valence electrons in the valece shells, 1,2, 3 of the X,
Y, Z elements are 2, 8, 6 respectively . Identify the element which doesn '
t exist monoatomic state.

A. X

B.Z

cYy

D.XandY

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_OcC3T3joHjjh
https://dl.doubtnut.com/l/_TAzQCWkpE571
https://dl.doubtnut.com/l/_M8TnD2yvMAA5

14. The number of neutrons are equal to the number of protons present
in the nucleus of two elements and their respective dinegative ions
possess 8 electrons in L and M shells respectively . Then the ratio of mass
numbers of the two elements is

A 1:2

B. 2:3

C.3:4

D. 2:5

Answer: a

o Watch Video Solution

15. Tripositive ion of an element has 13 protons and 14 neutrons .
Calculate the of number of electrons present in K and M shells of the

neutral atom.

A.2:3


https://dl.doubtnut.com/l/_M8TnD2yvMAA5
https://dl.doubtnut.com/l/_eTP3bcJ1nTrR

B. 2:1

C. 11

D. 2:5

Answer: a

o Watch Video Solution

16. The ratio of number of electrons present | four shells of an element is

1:4:4:1, fourth shell is the valence shell . Then mass of total positive

charge present in the atom is times to that of mass of

electron

A. 36740
B. 27555
C.18370

D. 55110


https://dl.doubtnut.com/l/_eTP3bcJ1nTrR
https://dl.doubtnut.com/l/_GZKCOZBChipV

Answer: a

° Watch Video Solution

17. The difference in the number of elelctrons between K, L and L, M shells

in the same for an atom of element 'X' (M shell is the valence shell) and

the difference value is the number of valence electrons in M shell of the

other element 'Y' . Give the electronic configurations of their stable ions.

A.2,8,2and 2,8,6

B.2,8and 2,8

C.2,8and 2,8,8

D.2,8,8and 2,8,8

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_GZKCOZBChipV
https://dl.doubtnut.com/l/_JgARi6075qhi

18. The colour change of CuSO, solution can observed when it is made

to react with

A. silver

B. silver chloride solution

C. zinc

D. gold

Answer: ¢

o Watch Video Solution

19. Identify the ratio of the coefficients of the products
CuO, NOy and H5O formed respectively when hydrated copper nitrate

is thermally decomposed.

QCU(NO3)2.6H2O — N02 + H2O + 02 + 2CuO

A. 2:3:1


https://dl.doubtnut.com/l/_YVsZ00UQtmTe
https://dl.doubtnut.com/l/_rafd1NjJRnwX

B. 1:2:3

C. 1:1.5:1

D. 3:2:1

Answer: b

° Watch Video Solution

20. Which of the following chemical change is a photolytic decomposition

reaction?

A. Decomposition of HOCI on standing

B. Formation of hydrogen chloride from their constituent elements

C. Decomposition of limestone

D.Both 1and 2

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_rafd1NjJRnwX
https://dl.doubtnut.com/l/_TDK7e2YCd6ZM

21. While explaining the modern concept of an atom,jack asked the
teacher why are electrons, assumed to be in continuous motion around
the nucleus instead of being stationary? What could be the explanation

given by the teacher?

° View Text Solution

22. A stable neutral atom X contains two completely filled orbits. Find out
its mass number if it consistsof 10 neutrons. 23. Mass of total positive
charge present in an atomis 7348 times to that of the mass of a negativily
charged particle. Find the atomic number of an element. Find out its

valency.

° View Text Solution

23. Mass of total positive charge present in an atom is 7348 times to that

of the mass of a negativity charged particle . Find the atomic number of


https://dl.doubtnut.com/l/_TDK7e2YCd6ZM
https://dl.doubtnut.com/l/_3VOKG2F4a6gX
https://dl.doubtnut.com/l/_4L0fubvStBQK
https://dl.doubtnut.com/l/_xAEzjHK95tm9

an element . Find out its valency.

o Watch Video Solution

24. While coming back from school in the school in the school bus , Bill
asked his friend Gill to predict the atoms, X and Y while form a stable
dinegative ion and a uninegative ion respectively . They have same
number of electrons in the L shell which is the shell inner to the valence

shell . predict the answer given by gill .

o Watch Video Solution

25. Predict the valencies of the elements with atomic numbers 7,15, 16,
18,19 and justify Also give the formulae of hydrides formed by the above

elements if any.

o Watch Video Solution



https://dl.doubtnut.com/l/_xAEzjHK95tm9
https://dl.doubtnut.com/l/_T53RtcAKPoIZ
https://dl.doubtnut.com/l/_Fx6XRSjhIKKM

26. In an atom , L and M shells have the same number of electrons . N
shell has one electron less than K shell . Explain the formation of

compound by this element and oxygen atom.

° Watch Video Solution

27. Explain the formation of the compound formed by two elements with

Z=20andZ=17.

° Watch Video Solution

28. An atom of an element has the electrons distributed in four shells . If
the electrons present in | and IV shells is in 1:1 ration and , the ratio of
electrons in Il and Il shell is also 1:1 , predict its valency and justofy

Write the formulae of (a) nitride (b) silicate (c ) chloride.

° Watch Video Solution



https://dl.doubtnut.com/l/_TZHXWbtPnTCL
https://dl.doubtnut.com/l/_UE04cwzHP8A0
https://dl.doubtnut.com/l/_wcgi0AKWzDYu
https://dl.doubtnut.com/l/_u4UHF7zLnwlz

29. A negative ion of an atom of element X has 18 electrons and 16
protons. Calculate the number of electrons and protons in its
corresponding atom. Also calculate the number of neutrons, if the mass

number is 2 units more than double the number of protons.

o Watch Video Solution

30. If the formula of metal sulphite of a metal M is MSOs , give the
formulae of its

(a) phosphate

(b) hydrogen phosphate

(c) chloride

o Watch Video Solution

31. In a chemical laboratory , a student broke the thermometer while
performing an experiment . Immediately , the mercury which was spilled

over was removed by the lab - incharge by sprinkling sulphur on it . The


https://dl.doubtnut.com/l/_u4UHF7zLnwlz
https://dl.doubtnut.com/l/_cJ8jR1VyqFWH
https://dl.doubtnut.com/l/_xony6PpagTZA

teacher asked the students to predict the type of change / reaction

associated with the above process. Explain with apporpriate reasons.

o Watch Video Solution

32. Asha's mother asked her daughter Asha to boil the milk and after
some time, she told Usha, Asha's sister, to add a little curd in the same
lukewarm milk. Next day, their father while teaching 'transformation of
matter to his daughters wanted to relate the given activity. So, he asked
them, 'what type of change was involved in the activities performed by

you yesterday?' Predict the answer given by them and justify.

o View Text Solution

33. What is the valency of iron in the products formed
(@) When iron is exposed to humid air for a long time?

(b) When red hot iron is made to react with steam?

o Watch Video Solution



https://dl.doubtnut.com/l/_xony6PpagTZA
https://dl.doubtnut.com/l/_K81ELEhtoUdz
https://dl.doubtnut.com/l/_VAPFjLEGh9Gp

34. Give the necessary chemical equations and balance them.
(a) Reaction of red hot iorn with steam to give Fe30, .
(b) burning magnesiun ribbon in an atmosphere of nitrogen.

(c ) Displacement of copper from the solution of its sulphate by zinc.

° Watch Video Solution

35.1n a science fair , a student took two test tubes labelled A and B filled
with copper sulphate solution, then he put magnesium ribbon in test

tube Asilver foil in tube B. Predict the observation and justify.

° Watch Video Solution

Concept Application Level 3

1. An atom of an element X' has three completely filled shell . The ratio of

electrons in 1 and 4 shells is 1:1. Find the atomic number of 'X' . Also


https://dl.doubtnut.com/l/_VAPFjLEGh9Gp
https://dl.doubtnut.com/l/_w6AFyukJnG8H
https://dl.doubtnut.com/l/_ZGl9iHlGDHHw
https://dl.doubtnut.com/l/_SxksoxZWiG6P

write the formulae of its bicarbonate , chromate and phosphide.

o Watch Video Solution

2. A metal (M) and a non - metal (X) form a compound with formula M, X3
. Predict the electronic arrangements of M and X assuming that M has
three occupied shells and X has two occupied shells. Also derive the
formulae of (a) sulphate (b) dihydrogen phosphate ( c) hydroxide of ion

of M.

o Watch Video Solution

3. Two metals A and B possess the same number of electrons in the L shell
and they differ by 1 unit in the number of electrons present in valence
shell and number of valence electrons is greater in B than A. The ions
formed get the configuration of the nearest inert gases namely argon
and neon, respectively.Give the probable electronic configurations of the
metals corresponding to A and B and also give the formulae of their

corresponding nitrite, nitrate, sulphite and bisulphite.


https://dl.doubtnut.com/l/_SxksoxZWiG6P
https://dl.doubtnut.com/l/_B50tY9BDm9zf
https://dl.doubtnut.com/l/_IGlE0NqxPbES

° Watch Video Solution

4.Number of atoms on either side of a chemical equation is balanced by
keeping appropriate coefficients and not by changing the subscripts of

the element in the formulae . Justify .

° Watch Video Solution

5. An atom of an element has two shells with electrons.The valence shell
has 2n + 1 electrons where n is the number of electrons in the innershell.
This element can form a radical X with hydrogen and two radicals Y and Z
with oxygen, Z has more number of oxygen than Y. Identify the element
and the radicals. Write the reaction taking place between solutions of

two salts, AgZ and XCl. Identify the type of reaction.

° Watch Video Solution

Assessment Test Test 1


https://dl.doubtnut.com/l/_IGlE0NqxPbES
https://dl.doubtnut.com/l/_uQ5sTd1c9gBf
https://dl.doubtnut.com/l/_z55invFQ9MzI

1. Which of the following involves only physical change ?

A. dissolution of lime in water.

B. dissolution of carbon dioxide in water at high pressure.

C. Dissolution of concentrated acid in water.

D. electtrolysis of water.

Answer: ¢

° Watch Video Solution

2. Arrange the points in sequence to draw the geometrical representation
of an atom which is represented as ZXA (1) calculation of the number of
protons and neutrons. (2) identification of the atomic number and mass
number of the given element. (3) placement of the electrons in shells
around the nucleus according to the electronic configuration (4) writing
the electronic configuration of the atom. (5) protons and neutrons are

shown in nucleus.


https://dl.doubtnut.com/l/_eCRPCYvrJSdH
https://dl.doubtnut.com/l/_HzR3L7sB0PwJ

A 2,1,543

B.2,1,3,4,5

C123,54

D.5,3,2,14

Answer: a

o Watch Video Solution

3.(a) Hy + Bry — 2HBr

(b) HBr + NaOH — NaBr + H,0

(c)2NaBr + Cly — 2NaCl + Bry

(d) 2NaCl — 2Na + Cly Arrange the above reactions in order s double
displacement reaction, combination reaction, decomposition reaction

and displacement reaction.

A2,1,42

B.2,4,1,2


https://dl.doubtnut.com/l/_HzR3L7sB0PwJ
https://dl.doubtnut.com/l/_D1irgVd0xp3U

c.2,13,3

D.1,2,4,2

Answer: a

° Watch Video Solution

4, 2KM’I’LO4 + H20204 — K2SO4 -+ 2M’I’LSO4 + 10002 + SHQO
ltvrgt Potassium permanganate oxidises oxalic acid in acidic medium as
per the above chemical reaction. Identify the coefficient of Hy SO, in the
above equatio.

A3

B.4

C.5

D.2

Answer: a



https://dl.doubtnut.com/l/_D1irgVd0xp3U
https://dl.doubtnut.com/l/_ljFz24T24mfK

| ¥ vvatch video sSolution J

5. What will be the formula of the sulphate and sulphite of a trivalent
metal that is M 3 ?

B. MSO,

C. M5S0,

D. MSOs

Answer: a

o Watch Video Solution

6. Match the element in column A with the electronic configuration given

in column B. Column A Column B


https://dl.doubtnut.com/l/_ljFz24T24mfK
https://dl.doubtnut.com/l/_OJM8XvGbT5xk
https://dl.doubtnut.com/l/_Nafyr7qMsOr3

(A Chloriee (] fal X2
(B) Scandium () (b) 2, H7
(€3] Margginese (1 (o) 2 H

(1) Berylbum () {d) 2,8 13,2

AA—c¢,B—c,C—a,D—b
BBA—d,B—a,C—d,D—c
CA—-bB—a,C—d,D—a

DA—d,B—a,C—c¢,D—b

Answer: ¢

° Watch Video Solution

7. Assertion (A) : Mass number of a carbon is 12.
Reason ( R) : Carbon possesses equal number of all three fundamental

particles.


https://dl.doubtnut.com/l/_Nafyr7qMsOr3
https://dl.doubtnut.com/l/_ai1Tm7PczRJ6

A.Both A and R are true and R is the correct explanation for A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. Ais false and R is true.

Answer: b

o Watch Video Solution

8. Identify the atomic numbers of the pair of elements which possesses

same number of electrons in L and M shells.

A.18

B.19

D.18

Answer: b



https://dl.doubtnut.com/l/_ai1Tm7PczRJ6
https://dl.doubtnut.com/l/_iua8UwiWqQxq

| o Watch Video Solution

9. If X ion has 10 neutrons and 9 protons , then the electronic

configuration of the atom of the element x is

A. 28,1

B. 2,7

C.28

D. 2,88

Answer: b

° Watch Video Solution

10. Assertion (A): Copper exhibits variable valency.
Reason (R): Copper loses two electrons from its valence shell and it can

also lose one more electron from the second last shell.


https://dl.doubtnut.com/l/_iua8UwiWqQxq
https://dl.doubtnut.com/l/_KLLfXQo6lbel
https://dl.doubtnut.com/l/_oPUVFgoJGXSw

A.Both Aand R are true and R is the correct explanation for A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. S false and R is true.

Answer: ¢

o Watch Video Solution

11. The ratio of difference in the number of electrons between K and M
shells is 3:2 for X and Y elements respectively . 'X' possesses stable
electronic configuration and M is the valence shell for both X and Y. The
electronic configurations of X and Y are respectively.

A.2,8,5and 2,8,4

B.2,8,8and 2,8,6

C.2,8,8and 2,6,6

D.2,8,6and 2,8, 4


https://dl.doubtnut.com/l/_oPUVFgoJGXSw
https://dl.doubtnut.com/l/_FS5mIMuTrDCV

Answer: b

° Watch Video Solution

12. The atomic number of three elements A, B and C are 10, 18 and 8

respectively . Identify the element which is chemically reactive ?

AA

B.B

C.C

D.both Aand B

Answer: ¢

° Watch Video Solution

13. If a dispositve ion of an element 'X' consists of 12 protons and 12

neutrons and another dipositve ion of an element 'Y' consists of 18


https://dl.doubtnut.com/l/_FS5mIMuTrDCV
https://dl.doubtnut.com/l/_K5cfD8BUDzWd
https://dl.doubtnut.com/l/_CKfDlXvXZvSe

electrons and twice the number of electrons of dipostive ion X is the

number of neutrons of Y. Then the mass number would be in the ratio of

A.1:2
B. 3:5
C.12:19

D. 2:3

Answer: b

o Watch Video Solution

14. The formula of chloride of a metal is MCI. What is the valency of the
metal?

A 4

B.3

C.1


https://dl.doubtnut.com/l/_CKfDlXvXZvSe
https://dl.doubtnut.com/l/_JYumryCFHm8g

D. 2

Answer: d

° Watch Video Solution

Assessment Test Test 2

1. Heating solid ammonium chloride involves change in the

A. physical state only.

B. physical state as well as chemical composition.

C. colour only.

D. both colour and volume only

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_JYumryCFHm8g
https://dl.doubtnut.com/l/_essrPD56hKVH
https://dl.doubtnut.com/l/_GKTsNOMz61VP

2. Arrange the following points in a sequence to draw the geometrical
representation of 200(140 . (1)Protons and neutrons are shown in the
nucleus.(2) Writing the electronic configuration of the atom.(3)Arrange
the electrons in shells around the nucleus following the electronicco
nfiguration.(4) Calculation of the number of protons and neutrons.
(5)ldentification of the atomic number and mass number of the atom.

A.54,3,2,1

B.5,4,1,2,3

C.1,23,4,5

D.3,1,2,4,5

Answer: b

o Watch Video Solution

3. Four types of reactions are given below in a particular order.

(1) Displacement reaction


https://dl.doubtnut.com/l/_GKTsNOMz61VP
https://dl.doubtnut.com/l/_GwtSm3jUNktI

(2) Combination reaction

(3) Double displacement displacement

(4) Decomposition reaction

Following this sequence to arrange the reaction given below.
(@) A+ B — AB.

(b)AB—+ A+ B

(0AB+C —-CB+ A

(d) AC+ BD — AD + BC

A. cadb

B. bacd

C. bdac

D. acdb

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_GwtSm3jUNktI

4. |dentify the coefficients of the product CuO and NO2 formed
respectively when hydrated copper nitrate is themally decomposed.

A 3,4

B.2,4

C. 4,5

D.2,3

Answer: b

o Watch Video Solution

5.If the formula of a metal ion is M "2 then the formula of its dihydrogen

phosphate is

A. My(POy),

B. MHPO,


https://dl.doubtnut.com/l/_OlohwIWoaWLc
https://dl.doubtnut.com/l/_x7ZNfNicJKGX

C. M(H,PO,),

D. My HPO,.

Answer: ¢

° Watch Video Solution

6. Match the elements in column A with the valency exhibited by the

element given in column B.
(Al Neon iy (a) 4
@ Oxypm () @& 3
) Poossam () () 2
1y  Bown () @ 1
{El  Silwon () (&) O

AA—bB—c¢C—dD-—eE—a

BA—bB—>c¢C—aD—eFE—d

CA—e,B—>bC—a,D—bFE—c


https://dl.doubtnut.com/l/_x7ZNfNicJKGX
https://dl.doubtnut.com/l/_SoLpqzNH87XD

DA—e,B—¢,C—d,D—bFE —a

Answer: d

o Watch Video Solution

7. The total mass of the protons of a boron atom is 6185 times the total
mass of electrons.

Reason (R): Mass of one proton is 1837 times the mass of electron.

(a) Both Aand R are true and R is the correct explanation for A.

(b) Both A and R are true but R is not the correct explanation for A.

(c) Ais true and R is false.

A false and R true.

A.Both Aand R are true and R is the correct explanation for A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_SoLpqzNH87XD
https://dl.doubtnut.com/l/_ZknexauISr2i

Answer: d

° View Text Solution

8. Identify the number of neutrons present in a pair of elements with
atomic numbers 20 and 13, if their mass numbers are 40 and 27,
respectively.

A.20and 13

B.20 and 13

C.17 and 20

D.20 and 14

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_ZknexauISr2i
https://dl.doubtnut.com/l/_lN0Fkjui0UTN

9. Tripositive ion, i.e, X+3 has 13 protons and 14 neutrons. Calculate the

number of electrons present in the M shell of the neutral atom.

A.2

B.1

C.3

D.5

Answer: ¢

o Watch Video Solution

10. Assertion (A): Sodium forms a monovalent ion.

Reason (R): Sodium loses only one electron from the second last shell.

A.Both Aand R are true and R is the correct explanation for A.

B. Both A and R are true but R is not the correct explanation for A.

C.Ais true and R is false.


https://dl.doubtnut.com/l/_NsETOKgMpkTA
https://dl.doubtnut.com/l/_VcsqK3gUzE7E

D. Ais false and R is true.

Answer: ¢

o Watch Video Solution

11. The difference in the number of elelctrons between K, L and L, M shells

in the same for an atom of element 'X' (M shell is the valence shell) and

the difference value is the number of valence electrons in M shell of the

other element 'Y' . Give the electronic configurations of their stable ions.

A.2,8,2and 2,8,6

B.2,8and 2,8

C.2,8and 2,8,8

D.2,8,8and 2,8,8

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_VcsqK3gUzE7E
https://dl.doubtnut.com/l/_nhO0BgcC4Lhp

12. Which of the following is a chemical change?

A. formation of clouds

B. formation of rust

C. manufacture of milk powder from milk

D. formation of black coating on the walls of a tube light

Answer: b

o Watch Video Solution

13. The atomic numbers of the elements X, Y and Z are 2, 10 and 16,

respectively. Identify the element which does not exist in monoatomic

state.

A X

B.Z

cYy


https://dl.doubtnut.com/l/_OrrDXNjIH4cZ
https://dl.doubtnut.com/l/_hB59WwVBHBs3

D.XandY

Answer: b

° Watch Video Solution

14. The number of neutrons are equal to the number of protons present
in the nucleus of two elements and their respective dinegative ions
possess 8 electrons in L and M shells respectively . Then the ratio of mass
numbers of the two elements is

A 1:2

B. 2:3

C.34

D. 2:5

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_hB59WwVBHBs3
https://dl.doubtnut.com/l/_6qSKIU6efOff

15. If a solid non - metal 'X' forms oxide of type X205, the valency of X is

A3
B.5
C.6

D.4

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_L2MAHYfBt0qg

